
 

 

 

 

 

 

 

  

  

  

 

  

 

 

 

 

  

  عددهای صحیح و گویا: فصل اول

  عددهای طبیعی

 ������, , , ,1 2 3 4… ��
�� ����� ������ �� .����  ����� ��� �
��1 ���  ! "#�$ %&'( ����� ��� �
�� .  

  عددهای حسابی

 ������, , , , ,0 1 2 3 4… ��� �� ��
�� � �#* ��� .����  ��+  ! �,- .� �#* ��� �
���      %&+'( � �+#* ��+� �
�+�

"#�$.  

/0 1��( .��2#� ����� ����� 3�4� 5(�6 � �#* ����� 7� �8       �+� �+(� "+9� � �+#* ��+� �
 ����� ��� �� ",� /���

"#�$ ����� ��� �
 � �#* ���. "#�$ ����� �:! "9� � �#* ��� �
 �,- ��
1.  

  عددهای صحیح

 ������, , , , , , , ,− − −3 2 10 1 2 3… … ������ �� ��
�� ;�<- .    �+( 7+=*>( 7+� ��+� /�4�   �+��� �+���   ! �
�+�

���  "#�$ %&'( ;�<- ������ �
�� .���  �(�  �,�( ;�<- ��� �
��)1- ("9� ���� !    "+�B( ;�<+- ��+� �
��1 

"9�.  

/0 1�   <+- ��+� �
 ����� ��� �� �
 � �#* ��� �� �
�� ��  ."9� ����� ! � �#* ����� 5(�6 .;�<- ����� 7� �8 ;�

"9�.  



 

 

 

2  

  قرینه یک عدد

/0 7C-�D 7� ��� !� ��
�� 7�
�E �� "9� F1��$� �
 7  �,- 1� �� . �G�
� �� 7�
�E ��4$)- ("9�.  

  a a=− 7�
�E  

  

  ( )− − = +8 8  

  ( ( ( ( ))))− − − − + =21 21  

  

 ��� /�4� 5-�* .�6�  I!1 ���� /��� 7�
�E ����� ���  5+-�* ��� .�6�  ��D ���� /��� 7�
�E ����� ��� �:! "9� 7�:!�

 7�:!� ��� 7�
�E�(�6� .  

  

 ���7-  ��54 �( 7�
�E ��   1� 5-�* ��� 7C-�D .L���8 M"9� ��N�  

  

 ��� ���7-  ��54  5-�* .L��� 7�
�E �� 7-  �� /0 7C-�D 7� ��  ����O8 .15 "9�.  

  جمع اعداد صحیح

�� !� P48 ��� L
��� ":�* !� ;�<- �:  

R:� (L� ��� !� ��� "9� ��� !� "(>� /�4� .5-�* "(>� .F��� P48 L� �  �� ��� !� .��6�  "(>�.  

S (L� ��� !� ���   ��+� "(>� .5-�* ��� "(>� .F��� L� L� 1� �� ��� !� ."(>� �2D�� �=$ �� /!�  .��6��$ "(>�

���  "9� ��.  

  

��� !� T
�,� ��.  ��( 7�
�E �� T
�,� "(>� 1� ��  ��� ! F��� 5
��� P48 7  �� T
�,� 54� ��2   �� 7+U$0 T�� VW9 ! L���

X� �( S�#* �� 5-�* .�6 72,� L���.  

  

Y���� 5-�* 7  �� �
1 ��� �
�!0 "9�.  

 [ ( ) ( )]− − − + − =5 10 )1  

 ( ( ( ( ))))− − − − − − − − − =1 2 3 4 5 6 7 8 9 10 )2  
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 [ ( ) ( )] [ ( )− − − + − = − + −5 10 5 10 ]
−

= +
5

5 )1  

 � �( ( ( ( )))) ( )
− −

−

− − − − − − − − − = − − − + = −
1 1 0

7

0

1 2 3 4 5 6 7 8 9 10 1 2 3 4 1 1���������
�������������
���������������

 )2  

  ضرب و تقسیم دو عدد صحیح

�( 54� ����� ��� !� L�#N� ! S�G ��$�( ;�<- ��� !� L�#N� ! S�G �� L��� .  \!� 7+  5-�* "(>� ����� ��� 

�( 54� �
1 L���:  

"(>� .��6�  �,�( ��� !� �
 "�B( ��� !� ���   +� !� 1� �]
 ��� ! "9� "�B( 5-�*     .�+6�  �+,�( ��+^
� ! "+�B( ��

"9� �,�( 5-�* "(>�.  

    

  

  

  
  

  ( ) ( ) ( )− + × − + = × − = −3 7 9 2 4 7 28  

  عملگرها  اولویت

7  �G�
� Y��9�<( �� �( 54� �
1 _���� L���:  

1- 76!�� �
 �2$��` 5O��  

2- a�]
��� ! /���  

3- "9�� 7  b� 1� L�#N� ! S�G  

4- "9�� 7  b� 1� T
�,� ! P48  

  

  ) − × + = − + = −1 5 5 3 3 5 15 3 7

  ) ( ) ( )÷ × − + = × − + = −2 12 2 3 3 6 3 3 15

  ) ( ) ( ) ( )− − − × − − = − − × − − = − + − =2 3 33 5 5 2 3 2 5 25 2 27 8 5 25 54 8 26
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  های یکسان محاسبه تعداد و مجموع اعداد متوالی با فاصله

  
                                                     

= +
 

1
 

 
 ����� �����  

  

    
(                     +                    ) ×    

=
2

 

 
 c�4d(  

  

 �
1 Y���� 5-�*�
�!0 "9� 7  ��.  

+ + + + =5 8 11 62⋯  

  

    

  
( )−

= + = + =
62 5 57

1 1 20
3 3

 ����� �����  

  
( )+ ×

+ + + + =
5 62 20

5 8 11 62⋯ =

10

670
2

   

  

7  �� �
1 Y���� 5-�* �
�!0 "9�.  

  − + − + − + − + + − =5 11 10 16 15 21 20 26 470 476⋯  

  

/�4� �( 7=*>( 7� ���  � ��  �2$��` �� 5-�* .L��� ���  729� �
1 5]6 7  �� Y���� ��� ����)6- ("9� .�
�� �� :  

  �������2$��` �( ) ( ) ( ) ( ) ( ) ( )− + − + − + − + + − = − ×5 11 10 16 15 21 20 26 470 476 6⋯  

  
−

= + = + =
470 5 465

1 1 94
5 5

 ���2$��` �����  

( ) ( ) ( ) ( ) ( ) ( )⇒ − + − + − + − + + − = − × = −5 11 10 16 15 21 20 26 470 476 6 94 564⋯  

  

 ���a b a b∗ = − −2 3 5 5-�* .�6� ( )∗ −4 6 ���� S�#* ��.  

  

����  ��� �
��- ���  ��� �
��  

�:��2( ��� !� 7C-�D 

                     ����         ����� ���       ��� �
�� ��� �
��  
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( ) ( )∗ − = × − × − − = + − =4 6 2 4 3 6 5 8 18 5 21  

  اعداد گویا

� /0 /��2  7� �� ���� ��7  �   ."+6�$ .�6�  �,- R:�&( /0 I�&( ! ;�<- ��� ./0 I�&( ! Y��- 7� �#� �
 Y��-

�( �
�� ��� �
 ��
��.  

  

  �����/− −
−

1
3 3

1 4
5 4

، ، ، !0 ��2#� �
��.  

  

  

�����−
3

5
. 

−3

5
  !

−

3

5
 �$� ��  L� � .  

 *"9� �
�� ���� .� �#* �
 ;�<- .����� ��� ��.  

*��f�: �( �� �
�� ����� ��� %&'( ����� ��<( �!� /���.  

  

  

  

  

��2#�$ �
�� .�6��$ ;�<- ���� /�6�f8 5-�* 7� �:�]
��� �����.  

  

 �����23  !− 27  �(� .��2#�$ �
��49  !− 81 ��2#� �
��.  

*��f�: �( R
��� ;�<- ����� 7�
�E ��$�( �
�� ����� 7�
�E  .��6  
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  ( ) , ( ) , ( )
− − −

− − = − = − =
−

4 4 21 21 14 14
3 3

5 5 23 23 95 95
  

  کسرهای مساوی

   +  �!�+#( ��+#� .L��� L�#N� �,- ��g ��� �
 �  �
 S�G �,- ��g ��� �
 �� �� �#� I�&( ! Y��- ���  �+#� /0 �

7  �( "9� �
0.  

  

  
−

= = =
−

12 4 24 8

15 5 30 10
  

  

�( �#� �� ���  �  /��� "6�$ /0 �  �!�#( �#� ��46.  

  ساده کردن کسرها

�( %&'( �� �#� "(>� ��2 � ���#� /��� F��9 ���  L��� .     S �+  �� �+#� I�+&( ! Y��+- VW+9.3./0 3    L�+#N� �+�

�( L���.  

  

  

  )
− −

=
48 6

1
56 7

  

( ) ( )
)

( ) ( )

− × − ×
= −

+ × −

1

7 12 7 12
2

4 35 ×

3

1
4 35

= −

5

3

5
  

)
− −

= =
− −

5 12 7 7
3

5 9 4 4
  

( ) ( ) ( )
)

− × − × +
= −

− ×

14 12 15 14
4

42 30

×
1

12
4

×

2

15
1

42
3

×

1

30
2

= −

1

2
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�4$ .L�6�  726�� T
�,� �
 P48 54� ��#� I�&( ! Y��- �� ���  �� I�&( ! Y��- /��� ��� F��9 L� �  . ��2 � �
� 

L��� F��9 �� �#� VW9 ! F��� 7�9�<( �� I�&( ! Y��- 5-�*.  

  

  
− × − − − −

= = =
− × − −

11 2 2 22 2 24
4

6 2 6 6 12 6
  

  

�#� !� ���
a

b
  !

c

d
 7  L
��^  �=$ �� �� ����  7�

a c

b d
</0 .  F��

a a c c

b b d d

+
< <

+
.  

  

�#� !� ��� <
3 5

4 6
 L
���:  

  
+

< <
+

3 3 5 5

4 4 6 6
  

�
�� �� :  

  < <
3 8 5

4 10 6
  

_���� ��4� 7  ! :  

  
+ +

< < < <
+ +

3 3 8 8 8 5 5

4 4 10 10 10 6 6
  

�
�� �� :  

  < < < <
3 11 8 13 5

4 14 10 16 6
  

7d�2$: �  �#� !� �� ��  ���� ��8! �#� ��46.  

  
 ���x  ! ;�<- ����x− < <10 12 3�4� c�4d( .�6�   ���  �]4( �
��N(x �� ��  ��.  

  
/0 1�  7� �8x  1� �
� −10 ���   1� ! ��12 ���� ��  �+6�  �
�� �+�  .x  �+(   �+$���, , ,− −9 8 11…  �+6�  .  �
�� �+� 

4� c�4d( ���  �]4( �
��N( 3�x 1� "9� Y����:  

  ( )−9 ( )+ −8 ( )+ −7 + + 9⋯ + + = + =10 11 10 11 21
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 ���x 7  �6�  �
�� ���� ����  7�x− < ≤−23 2/0 . ���� F�� ���  ! �
��   ���N( �
��x ���� ����� ��.  

  

���� ���N( �
��x ���  �:! "#�$ %&'(  /0 ���N( �
��2- "9�.  

  جمع و تفریق اعداد گویا

  

 P48 5-�*
−

+
3 2

2 3
 ���� /�'$ ��<( �!� ��.  

  

�(  L�$��
− × −

=
×

3 3 9

2 3 6
  !

×
=

×

2 2 4

3 2 6
 .!� �*�! �� �
�� ��  7  �� ��<( �6 �( L�#N� "4#E L���.  

  

  

7$�� 7  �� ��� !� ��2 � .�
�� ��� !� T
�,� �
 P48 ���  �( �� /0 I�&( 7� L�#
�$     1� �+]
 7+  VW+9 .�6�  "�B( ��

\!� �( 54� �
1  ��� L���:  

1- I�&( ��� I�&( 1� �]
 .��6�  �!�#( �� Y��- ! 726�$ �� ��  L� 1� �
 P48 L� �  �� ���( T
�,� L���.  

2- I�&( ��� h .��6��$ �!�#( ��.3.I�&( 3  T
�,� �
 P48 5-�* VW9 ! 72D�� �=$ �� h�2'( I�&( /���� 7  �� ��

�( S�#* �� L��� .  

  
T
�,� ! P48 5-�* 7  �� �
1 ��� �
�!0 "9�.  

      ( )− + − =
4 9

7 7
)R:�  

− + =
5 7

4 12
 )S  

−
− − =

6 9

15 12
 )I  
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( )
− − −

− + − = =
4 9 4 9 13

7 7 7 7
 )R:�  

  
× − + − −

− + = = =
×

5 3 7 15 7 8 2

4 3 12 12 12 3
 ) S  

  
( )− × − × − − − − +

− = = = =
× ×

6 4 9 5 24 45 24 45 21 7

15 4 12 5 60 60 60 20
 )I  

  

7  �� �
1 Y���� 5-�* �
�!0 "9�.  

  ( ) ( )− − − + − − − =
1 1 1 1 1 1 1 1

2 3 4 3 4 5 2 5
  

  

L
���:  

  − − + + − − + =
1 1 1 1 1 1 1 1

0
2 3 4 3 4 5 2 5

  

  

7  �� �
1 Y���� 5-�* �
�!0 "9�.  

  ( / ) ( / )− − − − =
19

5 23 4 1
20  

  
( / ) ( / ) /

− × × − − + −
− − − − = − + = = =−

× ×

19 523 19 5 41 10 523 95 410 208
5 23 4 1 2 08

20 100 20 5 10 10 100 100
  

  ضرب اعداد گویا

Y��- VW9 ! F��� ����� �� 5-�* "(>� ��2 � �
�� ����� S�G �� I�&( ! ��   �+( F��+9 /�](� �* �� �� ��  L�+�� .  ���+ 

5-�* �2D�
 Y��- .S�G I�&( ! L� �� �� �� �( S�G L� �� ��$ �� �� L��� . ���d ≠0  !b L
��� .�6� :  

  
a c ac

b d bd
× =
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  ( ) ( )
− −

− × = −
15 49 15

42 45

1

42
×

6

49
7

45
= −

3

7

18
  

*��f�: /0 ��2 � i�C&( ��� !� S�G �� �( 5
��� �#� 7  �� �� L���.  

  

  ( )
−

× − = × =− × =−
1 1 7 21 7 21 147

3 4
2 5 2 5 2 5 10

  

  تقسیم اعداد گویا

"9� �D�� �
�� ��� !� L�#N� �� L��� S�G 3!� ��� j�]�( �� �� a!� ��� . ���+� 7      �+�� 7+�d 0≠!c!b   .��+6� 

L
���:  

  
a c a d ad

b d b c bc
÷ = × =  

*��f�: ���  �#� 7  �� /0 ��2 � i�C&( ��� /��� j�]�( ���  �( 5
��� �*�! 1� �� L���.  

  

 ��� j�]�(−
1

4
3

 �� ��  ��.  

  

  
−

− = → −
1 13 3

4
3 3 13

  

  

) − ÷ = − ÷ = −
1 1 25 25 25

1 3 2
8 12 8 12

×
12

8 25
= − = −

12 3

8 2

  

) ( / ) / (− + × ÷ = − + ×

1 1

1

3 2 3 2 5
2 0 05 0 29

5 5 5 5 100
)÷

50

29

100
  

( )
× −

= − + ÷ =
×

3 10 1 29 29

5 10 50 100

1

50
×

1

100
2

29
= −

1

2  

*��f�:  j�]�(1  !1- "9� �,- .����$ j�]�( 7� ���� �k�� ! "9� /�6��O � �� .  

�++]�(
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]�( �  � ��  ��� �� �  �
 L�#N� 5-�*"9� ��� /0 j�.  

  
a b

( )
b a

÷ =1  

  

  ( ) ( )
−

÷ − = × − =
4 3 3

1 1
3 4 4

  

  

  

 L�#N� 5-�*)1- ("9� ��� /0 j�]�( 7�
�E �  � ��  ��� �� � .  

  
a b

( )
b a

− ÷ =−1  

  

  ( )
−

− ÷ =− × =
1 4 4

1 3 1
4 13 13

  

  

�
��$ �� �
��$ .�!� �� �!� F���E  

7  ���  Y���� 5-�* /��!0 "9� ��=$ �
��

a

b
c

d

       �+
��$ �� �+
��$ .�!� �� �!� F�+��E /0 7+  7+� ���� ��8! ��
�9 F��

�( 72,� ��6 .7  "9� �D�� \!� �
� �� L��� 54� �
1 Y��-:  

    

  

  )

−
×

= −

3
21 341

6

21

1

6
= −

×
2

21

84
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  ) = =

−

3
3 312

1 3
2

2 2

×
1

2

3
=

×
1

2

11

  
) [ ] [ ] [ ] [ ] [ ]− ÷ − = − ÷ − = ÷ − = ÷ = × =

− +

1 1
5 1 1 5 1 1 1 1 1 1 1 1 62 23 3

1 1 1 32 2 2 2 2 2 3 2 6 2 11 1
2 2 2 2

  

  ) = = = =

− − −
−

1 1 1 1 3
4

1 1 2 4 42 2 2
1 3 3 32
2 2

  

  

 ���A [ ] [ ]= + + + + + + + + +
2 4 6 80 3 5 7 81
3 5 7 81 2 4 6 80

⋯ ⋯/0 .  F�� ���N( �
�24�A �� ��  ��.  

  

76!�� L�#
�$ �( �
1 5]6 _���� 7  �� �:!� ! �(!� �:  

  

( ) ( ) ( ) ( ) ( )
1 1 1 1 1 1 1 11 1 1 1 40
2 4 6 80 2 4 6 80

+ + + + + + + + = + + + + +⋯ ⋯   

( ) ( ) ( ) ( ) ( )
1 1 1 1 1 1 1 11 1 1 1 40
3 5 7 81 3 5 7 81

− + − + − + + − = − + + + +⋯ ⋯   

V`:  

A ( ) ( ) ( ) ( )= + + − + − + − + + −
1 1 1 1 1 1 1 140 40
2 3 4 5 6 7 80 81

⋯   

 �� 5-�*"9� �*�! 1� �24� ���� �2$��` . c�4d( V`40  1� �24� �2$��`40 "9� .���
 :A80 120≤ <.  

  

F��6!�D  �� �
X�� ��2700 �
�O /�(�� . 1� V` �� ��� ���E /�(�� ��� �� X�� \!�D ��k  !�10  �  �� /0 R�,&� �-��

10 M�6�  72O!�D ��9 �-��  

  

 ��9× =
102700 270
100

   

x
x

90 2970 100 29702700 270 2970 100 10 90 3300
100 90

% % %
×

+ = → − = → = → = =   
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 ������1
3

  ! �kl 1� 5�E �� ��O ���3
4

 F�$�( �E�  1� ��$�9� /�
�` 7  �kl 1� ��  �� /0 � . ��+� 1� ��#� 7� !�   �E�+ 

M"9� F�$�(  

  

=
1
3

 F�6 3�d$� ��� �kl 1� 5�E �  

= − =
1 21
3 3

 F�$�( �E�  ��� �kl 1� 5�E �  

= × =
3 2 1
4 3 2

 �kl 1� ��  �� F�6 3�d$� ���  

= − =
5 11
6 6

 F�$�( �E�  ���= + = ⇒
1 1 5
2 3 6

 F�6 3�d$� ��� 5�  

  

68 �
�9��6 Y��� .��k6 m
��6 �8�! "��48 1� �-�� F��� "D�
�� �� ��O �C( �$� .1
8

     �� ��+O �+C( F��4+6 7�N 

�(  ! ��$��3
4

 PCn( �C( �� "D�
�� /��  �(��:� 1� 7�N  �$� .M"9� F�'$ a�9�� ����>�� "��48 �
� �-�� ��� 7   

  

  

− =100 68 32% % %   

× =
1

32 4
8

% %   

− =32 4 28% % %   

× =
3

28 21
4

% %   

− =28 21 7% % %  
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  عددهای اول: فصل دوم

  تعریف

�( a!� ��� �� �6�  726�� F�$��46 !� mND ! mND 7� ����� ��� �� L�
�� .  ! \��+O �  mND a!� ��� �^
� Y���� 7 1 

o&  "9� �
f`.  

  
 �����2 .11 .13 .19  !41 a!� ����� �$�.  

  
 ��� .I!1 a!� ��� �k��2 "9�.  

  

/0 p>2O� 7� �� ��  a!� ��� !�  ��1235 �6� .  

  
�( /0 1� �]
 7� �6 ����O ��D ���� .��� !� p>2O� ����- �� L�$�� �6�  I!1 ��^
� ! ��D �� ./0 1�   ��+� �k�� 7� �8

 ��� .I!1 a!�2 ��� 1� �]
 V` ."9� ��2  ��^
� !1237 "9�.  

  
/0 1� �]
 q�42* .�6�  ��D ���� .a!� ��� !� p>2O� �
 c�4d( F����  .��2 "9�.  

  

R
���: o�  7� ����� ��� ��  �( _��( ��� �� �6�  726�� F�$��46 !� 1� L�
�� .     �� _+��( ��+� �+� �+^
� Y���� 7 

�( 7  /��� � ��� !� S�G Y��-���  ����  1� ��1 "6�$.  

  
 �����6 .96 .4525  !51 ��2#� _��( �����.  

*��f�: 1 _��( 7$ ! "9� a!� 7$.  

  
1( S�r( ����� "9� ����2(�$ .��� �� ����� ���.  

2 (S�r( 3�4� _��( ._��( ��� �
 ��� �$�.  

3(  ����
  �  �����^
� ��� o&  S .�6�  �
f`.3./0 3 ��. ���� ���  ! ��h.3./0 3 ���  ��� �  � ��  �� "9� ��.  



 

 

 

15  

  

 ���270 7  �� /0 ! ���� 7
�d� �� 5-�* Y��- F�$��46 S�G ��#
��  o:!� ���.  

  

 

    
  

R
���: F�$��46 74� /��� ��� �( 5(�� �!fd( .��� /0 7  .��6�  I!1 .7
�d� 1� ��  ����� ��� �
 a!� ��� L�
��.  

  

 �����169  !4900  5(�� �!fd(��
1 ��2#�:  

  ,= = × ×2 2 2 2169 13 4900 7 5 2  

  

 ���192 M��6 5(�� �!fd( 5-�* �� L��� S�G ���� 7� �� 5E��* ��  

  

  

L
���:  

 /��� �
�� �� 3   5+(�� �!f+d( �=$ ���( ��� 7� �
� ���  ! "9� ��D ���� .

 ��� �� 5E��* �
�  .��63 ��6 S�G.   

  

S.3.h ! "9� �
 �  � ��  a!� ��� !� 3.3./0 3 5-�* �  � ��  �� "9� ��� !� S�G.  
  

R
���: S ���.3. �  � ��  ��� !� 31    �� ��+� !� /0 .��+6�  726��$ �
 1� ��g 7  ���2'( F�$��46 ��� !� /0 ���
 .�6� 

�( a!� L� 7  "�#$ �
 �
��2( L�
��. 
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 ��� !�16  !27 ��:!� L� 7  "�#$.  

  

���N(a 7$�� 7  ��  ��� !� 7� ���� ����� ��81  !a− ×2 73 2 ��6�  a!� L� 7  "�#$.  

  

/0 1�  7� �8= 481 3  �d  ���2'( F�$��46 �
��$ .��:!� L� 7  "�#$ ��� !� �
� !1 �
�� ��  .��6�  726��:  

  a a− = ⇒ =2 0 2  

  ی یک عددها تعداد شمارنده

F�$��46 ����� ����� ���  F�$��46 1� �
 �� /��� .��� 7
�d� 1� V` "9� �D�� ��� �
 ���      P+48 �+
 �+  �� a!� ��+�

P48 5-�* ! F��� L��� S�G L� �� �� ��.  

  

F�$��46 �����  ����� ���88  !240 ���� ����� ��.  

  

  ( )( )= + + =3 1 1 1 8 F�$��46 �����  ��= × ⇒388 2 11  

  ( )( )( )= + + + =4 1 1 1 1 1 20 F�$��46 ����� ��= × × ⇒4240 2 3 5  

  

 ���128 M���� _��( F�$��46 ���  

  

  = 8 F�$��46 ����� ��= ⇒7128 2  

F�$��46 �
� ��  1� 7� /0 1� �]
 ��  ��2 �(  "9� a!� 7� �6�  L� �]
 !1 . �
�� �� − =8 2 6 F�$��46  ���� _��(.  

  

���  7� a!� ��� �
��F�$��46  ���6  �4E�ababab �( M"#�� .�6�  �$��� 
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ababab ab ab ab ab ab10000 100 10101 3 7 13 37= + + = = × × ×  

 ��� �
�� �� ab  a!� ��� �
�2���  ��2 D �4E� .L��� s� ��� S��8 97 "9�.  
  

  های تعیین عددهای اول روش

  روش غربال

 1� a!� ����� /��� %&'( ��� 1  ��n �( F��,29� a� �g \!� 1� L��� ."9� F�6 F��!0 �
1 L2
��^:� �� \!� �
�.   
  

  

  

 1�  a!� ����� �2D�
 ��1   ��100 .54 �( mO 7� ���� ��(t� OM"9� ���� 7� .���  

  

�( mO a� �g L2
��^:� �� 7� ���� ��:!�  .���O1 S�r( 3�4� �
�  /0 1� ��  ."9�  ���2  L�$�  mO �� \��O 1� ��g 7 

/0 ����� 7�  ��49 "9� �� . �8 �
� ��50 F���O mO ��� �$� .S�r( �
�  ���  7C*�( ��  1� �
��3  q>�+E 7� �� \��O �8 7   .
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F���&$ mO � 7� L�$�  mO .�$9  .15 .21 �( mO �$��O . ��� �
�� �� 54  .3�27 "9�.  

  تشخیص اول بودن یک عدد

o&  "9� �D�� ��� �
 /��  a!� %�&'� ���   �:!� ����� �  �� /0 ��
f`)���  7  ���� 1� (  P+ �( 7� L��� /�<2(�

���  .F�6 F��� ��� 1� .����� /0 �6��$ ��.  

  

 ��� �
0101 9� a!�M"  

  

<22 101 .<23 101 .<25 101 .<27 101  !>211 101 .o&  ."9� �D�� �
�� ��   ��
f`101    ���+�� �+  mND ��

2 .3 .5   !7 L��� �9��  ./0  1�  7� �8101 o&  ����� �
� �  f`��� V` ."#�$ �
� "9� a!�.  
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  هاچندضلعی: فصل سوم

R
���: /0 i�6 7  ."9� ��CG��� �
 72#  72#]6 mO �� PCG 7� 
 ���] ju� �� �+^( .���]$ PnE �� �^
    !� 7+� �+�

�( L� 7  PCG ��9�.  

R
���: PCG 3�4� ��CG��� �
 �� ��� 7
!�1 3�4� ! L� �  �� 0 7  .��6�  � ��  L� �  ��$ ��L�
�� L=2�( .��CG��� /.  

  

79 c>GX� �!�#2( vCB( "9� L=2�( ��CG��k� �
 P �( ! L=2�( ��CG.  
  

 S�<( ��CG���)w�� :( 1� /0 ��
�!1 3�4� 7� ��CG��� 7 °180 �����( S�<( ��CG��� .�6�  �� L�
�� .��$�(:  

  

  

  

  

 ��N( ��CG���)!�� :(��* 7� ��CG��� 7 ���  7
!�1 �
 5E  1� ��°180 �( ��N( ��CG��� .�6�  726�� L�
�� .��$�(:  

  

  

  مرکز تقارن چندضلعی

7nN$ 5]6 �
 /��N� ���( �( T�n�( 5]6 ��O �  7nN$ /0 7  "�#$ 5]6 1� 7nN$ �� 7�
�E 7� "9� �� ��6 .  

7nN$ 5]6 �
 /��N� ���( PE�! �� ��$�( ��O  ���2(� F1��$� /�4� 7  ! L��� 5-! /0 7  5]6 1� 7nN$ �� 1� ��� 7� "9�

7nN$ 7  .L��� L�9�  5]6 �!� �� .�1��2( ����nE ���O�  5<( ! F�
�� �
 ���( a�B( ���  /0 /��N� ���( c>GX� "9� ��.  

  

  



 

 

 

20  

 

  

5]6 1� �
 �� /��N� ���( .��8! Y��- �� �� �
1 ���  %&'(�(L���:  

  

  

  

1- ���� /��N� ���( �
 �B���* 5]6 ��.  

2- �$���$ /��N� ���( .vCB( c��$� 1� �
 x��.  

3- ��n��� L=2�( ��CGn  o�>G� ����� �  � ��  /0 /��N� �����<( ����� .�6�  ��D) ���
n ( /��N� ���( �:! "9�

����$.  

4-  ��n��� L=2�( ��CGn  o�>G� ����� �  � ��  /0 /��N� �����<( ����� .�6�  I!1) ���
n ( /��N� ���( ! "9�

"9� o$��N� �����<( ���O�  5<( /�4� /0.  

  
7�CG .L=2�( �7 ����$ /��N� ���( �:! ���� /��N� ��<(.  

  توازی و تعامد

  نمادها و قراردادها

mO !� ���d  !d′ �( .��6�  �1��( L�#
�$d || d′ �
� ��g �� ! �( Y��-  L�#
�$d ||d′.  

 ��� mOd  mO � L�( �6�  ��4� . L�#
�$d L⊥.  

7  7
!�1 "'� .��� PnE �� �1��( mO !� � ��( mO ��� �( ��8!   7+  1�+  7
!�1 ��k� ! L� �  ��� 7
!�1 ��k� 7� �
0   ��+8!

7
!�1 ! �$� ��  L� �  ��$ F�(0 ��1�  �. 7
!�1 54]( ��2#� ��� ���.  

ˆ ˆ ˆˆ

ˆˆ ˆ ˆ

ˆˆ

= = =

= = =

+ = °

1 2 5 6

3 4 7 8

1 7 180
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  ها بندی چهارضلعی دسته

�1��2( c>GX�: ��6�  �1��( !� 7  !� /0 5 �N( c>G� 7� "9� ��CG��k�.  

  

  الاضلاع خواص متوازی

1- �1��2( �� 7
!�1 c>GX� �!�#( L� �  5 �N( ��� �$�.  

2- �1��2( �� PCG c>GX� ��$� ��  L� �  5 �N( ��.  

3- �1��2( �� 7
!�1 c>GX� ��2#� 54]( �!�d( ���.  

4- �1��2( �� �( Ry$ �� �^
�]
 ���nE c>GX� "9� /0 /��N� ���( ���nE ���O�  5<( ! ����.  

*��f�: �1��2( �� ���� 78�� ��2#�$ � ��  L� �  ���nE q�(!�: c>GX�.  

  

G� /�� �1�: ! P �( .5�n2#(�1��2( ."9� �!�#( ! �1��( L� �  !� 7  !� /�'C �N( c>  z��O �
�� ��  .��2#� c>GX�

�1��2( ��2#� ���� ��$ �� c>GX� .5]6 �
� PE�! �� �1��2( ���$ �� ��2#� c>GX�.  

  مستطیل

�1��2( "9� 74{�E /0 ��
�!1 3�4� 7� "9� ��>GX�.  

  خواص مستطیل

>GX� �1��2( z��O 5�n2#(���� �� c .�$� ��  �^
�]
 �  ���nE 5�n2#( �� F!>� 7 .  

  لوزی

�1��2( �( �1�: �� �6�  726�� �!�#( PCG ��k� 7� ��>GX� L�
��.  
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)���( 
)�( 

  خواص لوزی

�1��2( z��O �1�: 7  ���� �� c>GX� �� F!>� �$��4� L� �  ���nE �1�:.  

  مربع

�1��2( 
!�1 ��k� ! �!�#( PCG ��k� 7� ��>GX�L�
�� P �( �� ���� 74{�E 7 .  

  خواص مربع

"9� ���� �� �1�: ! 5�n2#( z��O 3�4� P �(.   
  

  ذوزنقه

L�
�� 7N$1!| .�6�  726�� �1��( PCG !� mND 7� ��CG��k� �� 7 .  

  

}�9 7  �!�d( ��
�!1 7N$1!| �� �$�^
�]
 54]( ��.  

  

5]6 ����� 7
!�1 F1��$� �
1 ���x  !y �� ��  ��.  

               

  

  

  

  

  

       ) R:�  

ˆˆ ˆ, d || d x

ˆd || d y

= ° ⇒ = ° ⇒ = °

⇒ = °− ° = °

1

1 2

1 80 2 80 80

180 80 100
  

)�  

x x

x x

ŷ x

+ °+ + ° = °

⇒ = ° ⇒ = °

⇒ = + ° = °

8 40 4 20 180

12 120 10

4 20 60

  



 

 

 

23  

       

  اصول توازی اقلیدس 

Lk( 1� �
1 ����( �
���( �9��CE� 79��� 7�:!� Y�
�=$��6� :  

1 ( �
 �k�� mO �
 I��O 7nN$ �
 1��( mO /0 �  ��4� .mO ��� L9� /���.  

 2 (�1��( L� �  mO �
 �  ��4� mO !� �$�.  

d d
d || d

d d

⊥  ⇒
⊥ 

2 1
2 3

3 1

       

  

3( �1��( L� �  ��O mO �
 �  �1��( mO !� �$�.  

     
d || L

d || d
d || L

 ⇒


1
1

      

  

4 (�4� �1��( mO !� 1� �]
 �  �nO ���"9� ��4� L� ��^
� �  .��6 �.  

 
d || d

L d
L d

 ⇒ ⊥
⊥ 

1
1    

  های داخلی زاویه

/0 1�  �� 7� �8n �( �� ��CG 7  /���n−2 a�B( ���  .��� L�#N� h�2'( ju� �  vCB(:  

    

 �  ��CG ��� �
 �CO�� ��
�!1 c�4d( �
�� �� n �  "9� � ��  ju�:  

  (n )− × °2 180  
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 � ��  ��CG ��� �
 �CO�� ��
�!1 c�4d(1620 M���� ju� ��� ��CG ��� �
� ."9� 78��   

  

  n n− = ÷ = ⇒ =2 1620 180 9 11  

  

7<,- 3�4� 7
!�1: 7
!�1 �( 7<,- 3�4� 7
!�1 �� "9� T�n�( L� �  o�>G� 7� �� 
��  �+  � ��  7<,- 3�4� 7
!�1 ! L�°360 

"9�.  

    

 ��N( 7
!�1)!��:( 7
!�1  1� /0 F1��$� 7� ��°180  1� ! �2'� °360 L�
�� ��N( �� �6�  �24�.  

 S�<( 7
!�1)w��:( 7
!�1  1� /0 F1��$� 7� ��°180 L�
�� S�<( �� �6�  �24�.  

  

 �
 �CO�� 7
!�1 �� F1��$�n �  "9� � ��  L=2�( ��CG
(n )

n

− ×2 180
 .  
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  جبر و معادله: فصل چهارم

  های جبریتجزیه عبارت: درس سوم

S�G 7  ���8 Y���� �
 5
���:  

� �
 5
��� ��� 7C48 3�4� h�2'( 5(�� "9� �D�� .S�G 7  ���8 Y���  h�2'( 5(�� �  �� Y>48 �� �� VW9 .72D�
 �� ��

/0 ��  ����O 7�:!� Y���� �  � ��  �2$��` �
� �� h�2'( 5(�� S�G 5-�* .L�#
��  �2$��` 5O�� �� 5-�* ! F��� L�#N� ��.  

S .h�2'( 5(�� �2D�
 ���  ���� 78��.3. �� _
��G 3 h�2'( 5(�� _
��G /���� 7 ! �  h�2'( p!�* 4� /���� 7  �� /��� �
�2

�( �=$ �� h�2'( 5(�� L
���.  

  
  

���   h�2'( 7�C� 3�#N( �
��)S.3.3 (7C48  ����
1 ���� %&'( ��.  
  

ab,ac)R:�  
ab, ad−)S  

a b, a b3 2 28 2)I  

  
  

  

  

  

  

  

  

  

  

  

  

  

ab,ac a→)R:�  

ab, ad a− →)S  

a b, a b a b→3 2 2 28 2 2)I  
  

  

  

  

  

  

  

  
Y���� ��#
��  ���8 Y���� !� S�G 5-�* Y��- 7  �� �
1 ���.  

ab ac ?+ =)R:�  

a bc a b ?− =2 3 2 212 16)S  

  
ab ac

ab ac a( ) a(b c)
a a

+ = + = +)R:�  

a bc a b
a bc a b a b( ) a b( c b)

a b a b
− = − = −

2 3 2 2
2 3 2 2 2 2 3

2 2

12 16
12 16 4 4 3 4

4 4
)S  

  
/�4� �'&` "�-�O 54� V]� .������2��D .�6 7=*>( 7� ��� "9�.  

 S. 3 .3 

 S. 3 .3 

 S. 3 .3 
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��#
��  ���8 Y���� !� S�G 5-�* Y��- 7  �� �
1 Y����.  

B a a a= + −7 5 43 2  
  

  
B a ( a a )= + −4 33 2 1  

  

  

  
Y������� Y���� ��� S�G 5-�* Y��- 7  �� �
1  �^
�� ��#
�.  

a b c a b c a b c ?− + =2 4 6 6 4 2 4 6 24 6 2)R:�  

b(a ) (a ) ?+ + + =3 2 3)S  

  x y xy xy ?− − =3 2 54 8 16 )I  

x x ?− =3 28 4)�  

x y x y ?− =3 4 58 9 )+�  

x(x ) y(x ) ?− − − =4 2 3 2 )!  
  

  
  

a b c a b c a b c a b c ( c a a b )− + = − +2 4 6 6 4 2 4 6 2 2 4 2 4 4 2 24 6 2 2 2 3)R:�  

b(a ) (a ) (a )(b )+ + + = + +3 2 3 3 2)S  

  
x y xy xy

x y xy xy xy( ) xy(x y y )
xy xy xy

− − = − − = − −
3 2 5

3 2 5 2 44 8 16
4 8 16 4 4 2 4

4 4 4
)I  

x x
x x x ( ) x ( x )

x x
− = − = −

3 2
3 2 2 2

2 2

8 4
8 4 4 4 2 1

4 4
)�  

x y x y x y( y x )− = −3 4 5 3 3 28 9 8 9)+�  

x(x ) y(x ) (x )( x y)− − − = − −4 2 3 2 2 4 3 )!  

  

  معادله: درس چهارم

���  ��6. )���:7 )� :معادلهE�  ! "9�� ���� �
��N( �O�  ��1� 7  7� ���8 �!�#� 7  ��
��.       �+
� 7+� �+���~2( 1� ��
��+N( 7+ 

 �!�#��( ���E�  �� S��8 .���� �( 7:���( ��� L�
��.  
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  :حل معادله  روش

�( F��9 /�](� �* �� �� 7:���( p�� !� ��2 � 7:���( 5* ���  L��� .7$�� 7  �� Y>48 VW9 �( �d �8 ��    a�+kd( Y>+48 7� L���

�$��� ���E /0 �^
� p�� �� 3�C�( Y>48 ! 7:���( p�� �
 �� .d �8 �  7� ���� 78���
�         p�+� 7+  7+:���( p�+� 1� 7+C48 �+


�( ���~� 7C48 /0 "(>� ./0 �^
� ��� .         ���+E 7+:���( �+^
� p�+� �� a�+kd( Y>+48 ! p�+� �+
 �� 3�C�( Y>48 7� �(�^��

a�kd( _
�G �  L�#N� 3�C�( 7C48 �  "9� � ��  7:���( S��8 .��2D��.  

  

  

  

  

���� 5* �� �
1 7:���(.  

  (x ( x )) (x ) x− − + − − = +4 2 4 3 2 7 6  

  

  ( x x+4 2
x

) x x x x x x x

x x

− − + = + ⇒ − − = ⇒ − =

⇒ = ⇒ =

3

8 3 6 7 6 12 32 3 7 9 32 7

2 32 16
  

  :حل معادلات کسری

�( ��#� YX���( �� h �� 7:���( p�� !� S�G �  /���.3.I�&( 3     _
��+G �+  7+:���( �
 7  ! ��!0�� ��#� ":�* 1� �� 7:���( .��

��� 5
��� ;�<-.  

  

7:���(��#� ��� ���� 5* �� �
1.  

x +
− =

3 1 2
5

6 3
)R:�  

  
(x ) ( x)+ −

− =
3 1 2 1 22

2 3 3
)S  

x
x x+ − = −

1
12

6 3
 )I  
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�
x

( ) x
−

+
− = ⇒ + − =

3

3 1 2
6 5 3 1 4 30

6 3
)R:�  

x x x x= + ⇒ = ⇒ = ⇒ =
33

3 30 3 3 33 11
3

  

S ( �� �� 7:���( p�� !�× =2 3 6 �( S�G L���.  

(x ) ( x)
( ) (x ) ( x)

+ −
− = × ⇒ + − − =

3 1 2 1 22
6 6 9 1 4 1 44

2 3 3
  

x x x x x⇒ + − + = ⇒ + = ⇒ = ⇒ = =
39

9 9 4 4 44 13 5 44 13 39 3
13

  

x x x x
x x

−
+ − = − ⇒ + − =

1 2 72 6
12

6 3 6 6 6 6
 )I  

x x x x
( ) x

+ + ×
⇒ = ⇒ = ⇒ = = =

2 6 9 12 6 72
12 12 8

6 6 9 9
  

7  7� ��#� YX���( 5* �� �( .��2#� _9��� Y��- ��� I��O ��#� ":�* 1� �� 7:���( .��n9! ��D�� 1� F��,29� �  /���.  

  

  
7:���(�
1 ��� ���� 5* ��.  

x

x

−
=

− −

2 5 2

3 4 3
)R:�  

x x+ −
=

3 6 2

2 5
 )S  

  

  

  )R:�  

  x x x x⇒ − = − − ⇒ = ⇒ =
7

6 15 6 8 12 7
12

  

x x
(x ) ( x ) x x

+ −
= ⇒ + = − ⇒ + = −

3 6 2
5 3 2 6 2 5 15 12 4

2 5
)S  

x x x x⇒ − =− − ⇒ − = − ⇒ = =
19 5

5 12 15 4 7 19 2
7 7 
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�$��� YX���(: �( �$��� 7:���( .7:���( /0 7  .�6�  ��� �
 /��� �� .a�kd( 7:���( �
 ��� L�
�� .  

�( ��9 ��2 � .�$��� 7:���( �
 5* ���  7
�` 7� L�#
��  �C]6 7  �� /0 p�� !� L���  ��� � �� ��6�  726��) .    �+
� "+9� �+2k 

7
�` ��6�  a!� ����� �� (7
�` �� ��  1� VW9 /0 ��� /��� �!�#� . �� �( 7d�2$ �� ��    �+( 5+* �� 7+:���( ! L
���     +  a�+kd( �+� L�+�� 7

�
0 "9�.  

  
7:���( ���� 5* �� �
1 ���.  

    x+ =2 3 112 2 )R:�  

x− =8 2 32 4 )S  

x x+ −=3 13 9 )I  

  
  x x x x+ = ⇒ + = ⇒ = ⇒ =2 3 112 2 2 3 11 2 8 4 )R:�  

x x x( ) x x x− − −= ⇒ = ⇒ = ⇒ − = ⇒ = ⇒ =8 2 3 8 2 2 3 8 2 62 4 2 2 2 2 8 2 6 8 8 1 )S  

x x x( )+ − −= =3 2 1 2 23 3 3)I  

 
x x x x x x

x x

+ −⇒ = ⇒ + = − ⇒ − = − −

⇒ − = − ⇒ =

3 2 23 3 3 2 2 2 2 3

5 5
  

  های مختلفتشکیل معادله برای مسئله

  
 ��#` ! ��` �9 c�4d(57 "9� a�9 . ��` �9 ���3 #` �9 � ��  !� 1� a�9M"9� ��N� ��` �9 .�6�  �2'�  �  

  
 �� �#` �9 ���x L
��� L
��^  �=$ ��:  

x +2 3  :��` �9  

  ( x ) x x x x⇒ + + = ⇒ + = ⇒ = ⇒ =2 3 57 3 3 57 3 54 18  

 ��` �9⇒ × + =2 18 3 39  

  
 �:��2( I!1 ��� ��k� ��^$��(23 "9� .���  ��� �� ��  �� ��.  

  
���� ��� ���   ��x L
��� L�(�� :  

  
x (x ) (x ) (x ) x (x )+ + + + + + + +

= ⇒ = ⇒ =
2 4 6 4 12 4 3

23 23 23
4 4 4

  

  ���  ��� ��x x x⇒ + = ⇒ = ⇒ + =3 23 20 6 26  
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 �� ��� �� 	
��
�� ����
3

2
  ���� �� ��� �����80 	� ���� .���� �� ! "��
�� �#���  

  

x
3

2
  :���    �:x ��	  

(x x) x x x+ = ⇒ + = ⇒ =
3

2 80 2 3 80 5 80
2

  :
��
  

 ��	x⇒ =16   

= × =
3

16 24
2

 ���  

: × =24 16 384 �����
 ����
  

  

  

 ��$%11  	
� '�(��� ) ���3 (��( ��� . ��$% +� �,-( ��� �.!3 ��� +� �����	� '�( �(��  

  

 �� �� ���� ���x ���  ! "#�$%� &��' ��( . ���� *�
� *+ !�x+11  ",	 � ��(x+3 �!�� ��(.  

x ( x) x x x x+ = + ⇒ + = + ⇒ = ⇒ =11 3 3 11 9 3 2 2 1   

  

 /�01�
2

3
  �� 2(��

3

4
  ) (�� ��0$ ����� )( (�� ��82 	� ���� . (�� ������ �.!  

  

 �� �=$���( ���x �( �=$ ��L
���:  

x x x
x x x

x
x

+ +
+ + = ⇒ =

⇒ = ⇒ = × =

2 3 8 9 24
2 82 82

3 4 12
41 12

82 82 24
12 41
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 �-% "3� ����35 ���  .�-�)� ��( �� �� "3� +-� /56� ���. 

  

  

  
  

  
x x x x x

x x

− + − + + + + = ⇒ + =

⇒ = − = ⇒ = =

2 1 2 3 3 7 35 7 7 35

28
7 35 7 28 4

7

   

G� a�� �  "9� � ��  c> :, , ,2 7 1115   
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  بردار و مختصات: فصل پنجم

  جمع بردارها: درس اول
  

���� : F��` ����  "k8 "9� �nO �( %&'( o
�k2$� ! ��2 � p�* !� �  �� /0 qX�4�( 7� ��� ���     p�+* �+
 �+  �� ����+  ���� �:! �

�( %&'( L� �#�C^$� ���� ��$�( ����:AB
���	

  �
a
	

  

    
��f�: /0 ��k2$� 7nN$ 7  ����  /0 ���2 � 7nN$ 1� "9� a�N2$� �
 7:��( 7  ����  �� PE�! �� .  

 �!�#( ������� )��9 L�:( L� ����  !� L� ."k8 �L� �
 �!�#( ����  !� �� �29�� L� ! F1��$ �( ��9 L�
�� . �+#( ����  !� �!

Y�y2&( �$��� � ��  ���.  

  

������� a
	

 . b
	

  !c
	

 /0 �^4� Y�y2&( ! �$� ��  L� �  ��
 
 
  

3

2
 "9�.  

  
7�
�E ����  !�:  �1��( ����  !�)�29�� L�(k8 p>O �� 7� F1��$� L� .L�
�� 7�
�E �� ��6�  �^
�]
 " .    .7+�
�E ����+  !� Y�+y2&(

"9� �^
�]
 7�
�E .7�
�E ���� a
	

  �  ��a−
	

 �( o
�4$ L���.  

  

������� e
	

  !f
	

 ����  Y�y2&( .�$�^
�]
 7�
�Ef
	

 .
 
 
  

6

2
 ����  Y�y2&( !e

	
  .

 −
 
 − 

6

2
 "9�.  
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  :دست آوردن حاصل جمع هندسی دو بردار به

7  ���  �( �9��� \!� 7  ����  !� P48 5-�* /��!0 "9� ��� 54� �
1 Y��- !� 1� �]
 7  /���.  

R:�(  �BCB( \!�:    ���+2 � 7+� �����  .L��� L9� �^
� ����  ��k2$� 1� �� ������  1� �]
 �  �!�#( �����  "9� �D�� \!� �
� ��

�( 5-! 3!� ����  ��k2$� 7  �� a!� ����  "9� ����  !� �
� P48 5-�* .���.  

  
��� �46 1� /��k� 7  ���9 ! 1� ���9 7  �k'( 1�!�` ���� ��$�( �
� "9� 7� 7  ��� L�N2#( 1� /��k� 7  �k'( 1�!�` F��� -

�
�. )�
 5N$ /�]( F����
�( ���
:  

)�k'(→ /��k�(= )�k'(→ ���9(+ )���9→ /��k�(  

a�* �  78�� 7  5]6 �
1 �(����  7� ��� 7nN$�A �� ��2 � �  ���� a
	

 VW9 �  ���� b
	

 a�N2$� L���. ��$�( �
� "9� 7� 

7nN$�A �� �  ���� c
	

 N2$�a� F��� L�6� . V` F���� ������  7  a��$� �^
�]
 L9� .�$�6 7  �C]6 7� ��k2$� �]
 �� ���2 � 

��^
� .�6�  �(/��� 1� ���2 � ��:!� ����  7  ��k2$� �
�O0 ����  5-! F��4$ ! ����  5-�* P48 �� %&'( ��4$.  

  

AA A A AA
     
     ′ ′ ′′ ′′+ = ⇒ + =
          

1 6 7

4 1 5

���	 �����	 ����	
  

a

c

b

A A

A A

A A

′ →      − −      + = ′′→     −            ⇒ −
      + =′ ′′→        −          −       + =             

2 1 1

2 4 2
2 7 5

2 5 3
1 6 5

2 1 3

	

	

	  

  
  

a b c e+ + =
		 	 	

  
  

  

  

  

  

  

  
��� !� ����  ��8 1� L� ��6� . �� �
� ":�* �D�� ."9� 1� ��k2$� �]
 1� /0�� �����  �!�#( ! �1��( ��^
� L9� L��� ! 

7  /�4� �6!� 7� 72,� .�6 ����  5-�* P48 �� L9� L���.  
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����  !� P48 5-�*a
	

  !b
	

 /0 �l��2( P48 VW9 ���� L9� �� ��#
��  �� ��.  

  

  

  

  
 

  

  

  b a
     −
     + = + =
     − −     

4 2 2

0 2 2

	 	
  

  

  

  

  

  
5]6 1� �
 �� �� /0 �l��2( P48 ! ���� L9� �� P48 5-�* ����  �
1 ��� ��#
��  �� ��.  

  

  

  

  

  
    

  

  

  

  
  

  :تفریق بردارها

�(��$�� 7� ���  �2D�
 5-�* �,�T
 !� ��� .;�<- T
�,� �� 7  P48 5
��� F��� ! ��� 3!� �� 7�
�E �(L���.  

a b a ( b)− = + − 
  

���  �2D�
 5-�* T
�,� !� ����  ��$ 7  ��4� _���� 54� �(L���:  

a b a ( b)− = + −
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F�6 F��� �������  7  78�� � a b−
		

 �� L9� ����.  

    

  
 

  

L
���a b a ( b)− = + −
	 		 	

 �
�� �� :  

  

  

  

7nN$ 79C ,B , A
     − −
     = = =
     − −     

2 1 3

3 4 1
 s!�,(.�$�AB AC−

���	 ���	
 �
�!0 "9� 7  ��.  

 

�(L�$��AC CA− =
���	 ���	

  

AB AC AB CA CB CB OB OC
     − −
     − = + = ⇒ = − = − =
     −     

1 2 3

4 3 7

���	 ���	 ���	 ���	 ��	 ��	 ���	 ���	
  

   

  

S (�1��2( \!� c>GX�:  "9� �D�� \!� �
� ��L��� L9� a!� ����  ���2 � 1� �� 3!� ����  �  �!�#( �����  .�  VW9   !� �+
�  

�1��2( �
 ����  �1��2( �
� �nE .L��� L9� c>GX� �( ����  !� h�2'( �9 1� 7� c>GX� "9� ����  !� P48 5-�* .��f�.  

  

  

  

a b a b c
a b c

b b

′+ = + =  ⇒ + =
′= 

	 		 	 	
		 	

	 	  

  

  

  

/�4� ��� 7� 7=*>( �
��4$ �� \!� (�1��2 c>GX� ��2 � �  78�� 7  �������  .�!�#( c�4d( �� 7  Y��- \!� vCB( 

�� F��!0 ! VW9 5-�* P48 �� 7  "9� �!0�L
. 
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���� L9� �� �
1 �������  P48 5-�*.  

  

  
  
  

  

  

������� n , m
   −
   = =
      

4 4

0 2

	 	
 �� 1� u��( Y�y2&( L9� ���� ! ����  5-�* P48 /0 !� ����  �� L9� F��� ! VW9 

Y�y2&( /0 �� ��$ 7  "9� �
�!0.  

  

  

  

m n
 
 + =
  

0

2
  

  

  

  
  

  

  
  

  
  

��<( �1��( ����  �
� .�6�  �,- ����  �
 a�� ���y  ��<( �1��( ����  .�6�  �,- �  � ��  /0 s�� ��� ! "9� ��x "9� ��.  
 

  

5]6 1� �
 �� �� ����  .��OC
���	

 ��#
��  ����  !� P48 5-�* Y��- 7  ! ���� 7
�d� ��.  
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 7nN$ 1� ��� �
� ��� C Y�1��( 7 oy  !ox �( L9� �� ���nO 
� �� L���L�$ � mO ��� PnE �� ��.   

  

  

  

  

  
P48 !� ����  "�-�O �
�d �8 ! "�-�O "��6��
f` ����.  

  

79 ���� c , b ,a
     − −
     = = =
     −     

2 3 1

6 5 2

		 	
 F��� F�6 ."9� �29�� 7n ��� �
1 �� �9��  ��
�4$.  

a (b c) (a b) c+ + = + +
	 		 	 	 	

  

  

( )
           − − −
           + + = + =
           −           

1 3 2 1 1 0

2 5 6 2 1 3
  

( )
           − − −
           + + = + =
           − −           

1 3 2 2 2 0

2 5 6 3 6 3
  

  
� �� �2D�
 5-�* ��� ����  �D�� "9� a�� ������  �� �  L� ! s�� /0�� �� ��$ �  L� P48 L��� �� 7  ._���� a�� ! 

s�� 5-�* P48 7  "9� �
0.  

  
  

( )

( )

         − − − + + −
         + + = =
         − + − +         

1 3 2 1 3 2 0

2 5 6 2 5 6 3
  

  

  
5]6 �
1 �
 P �( �(�6� . 3��� �!�#� "9���$ M"9�  

 

1( DA CB=
���	 ��	

                            2(BA DC= −
���	 ���	

   

3( DA DC DB+ =
���	 ���	

                4( DC CB DB+ =
���	 ��	 ���	

                                    

5(BA DC=
���	 ���	

   

  
7�
��  »5«  ;�<- "9�.   

!� ���� DC,BA
���	 ���	

 ��g L� "k8 ��2#�. V` �4$��$��� �  L� �!�#( ��6� . 7�N  7�
���� "9�� "9�. 
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  ضرب عدد در بردار: درس دوم

���  S�G �
 ��� �� �
 ����  �("#
�  /0 ��� �� L� �� a�� ! L� �� s�� ����  S�G ��4$. �� ":�* �C� 

���
x

a
y

 
 =
  

	
 �6� k � ��  ���� a

	
 ���
(ka)

��	
 �� 7  Y��-

kx
ka

ky

 
 =
  

��	
 o
�4$ �(L���.  

 ��� S�G � k  ����  ��a
	

 ����  s�� ! a�� .a
	

 .k �( � ��  ��� .��6k .�6�  "�B( ����ka
��	

 �����  .k ����  � �� a
	

 

��� ! "9� /0 "k8 �� !k .�6�  �,�( ����ka
��	

  . �����k ����  � �� a
	

 "9� /0 "k8 p>O �� !.  

  

  
         − −
         − + = + =
         −         

3 5 6 5 1
2

4 6 8 6 14
  

  
S�G �
 ��� �� �
 ����  ��29�� /0 �� ���~� �4$���.   

  
  

������� a, a, a−3 2
	 	 	

 74� �  L� �1��(�$�.  

  
�  S�G �
 ��� �,�( �� �
 .����  "k8 ����  s�� �(��6.  

  
"k8 ���� b−3

���	
 V]� "k8 ���� b

	
 "9�.  

  

���OA a
 
 = =
  

3

2

���	 	
 .�6�  Y�y2&( ������� c a,b a= − =2 2

		 	 	
 �� 7  "9� �
�!0.  

  
  

b a OB

c a OC

   
   = = × = =
      

   −
   = − = − × = =
   −   

3 6
2 2

2 4

3 6
2 2

2 4

���		 	

���		
  

  

  

  

  
 

1� $�= F1��$� ������� c,b
		

 L� F1��$� ��2#� ! !� � ��  ���� a
	

 �(��6�  �:! /�4� ��� 7� 7=*>( �(���� "k8 /0�� 

7�
�E �^
�]
 "9� ! �
� 7  ���O ���� "9� 7� ��a
	

 S�G .F�6 �� �:!�+2 ! �� �(!�−2 �(�6� .  
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  بردارهای واحد مختصات: درس سوم

���� j , i
   
   = =
      

0 1

1 0

	 	
 �� �������  �*�! ��<( Y�y2&( �(��
��. ���� i

	
 ����  �*�! ��<( a���� ! ���� j

	
 ����  �*�! 

��<( s���� �(�6� .   

  

���2 � �� i
	

 !5 � �� j
	

 �� �  L� P48 L��� L����O "6��:  
  

i j a
         
         + = + = + = =
                  

1 0 2 0 2
2 5 2 5

0 1 0 5 5

	 	 	
  

  

  

  

  

  

  

  

�� ����  �� �(/��� 7  Y��- �
 Y���� ���8 �  _#*j, i
	 	

 "6�$.   

  

�4�7' _
�Gi
	

 �� 7  /���� a�� ����  !  _
�Gj
	

  �� 7  /���� s�� ����   �� �=$ �(L
���.  

  

������� n i j , m i j= − + = −3 4 5 2
		 	 		 	

 �� 7  Y��- ���y2&( ��#
�� .  

  
  

m i j
         
         = − = − = − =
         −         

1 0 5 0 5
5 2 5 2

0 1 0 2 2

	 		
  

n i j
         − −
         = − + = − + = + =
                  

1 0 3 0 3
3 4 3 4

0 1 0 4 4

	 		
  

  

�(7:�����y2&( ���: 7:���(��� ���y2&( ��$�( 7:���(��� �:�4�( ��2#� �  �
� Y!�,� 7� �9�` /0�� 7  ��8 �
 

���N( .���� �
 Y�y2&( "9�.  
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x
 
 =
 − 

6
3

9
)R:�  

x
   
   + =
   −   

2 5

3 4
)S  

x
   
   + =
   −   

3 5
2

5 3
)I  

  

  

x x
       ÷
       = ⇒ = = =
       − − − ÷ −       

6 6 6 3 21
3

9 9 9 3 33
 )R:�  

x x x
           −
           + = ⇒ = − = ⇒ =
           − − − − −           

2 5 5 2 5 2 3

3 4 4 3 4 3 7
 )S  

x x x x
             
             + = ⇒ = − ⇒ = ⇒ = =
             − − − − −             

3 5 5 3 2 2 11
2 2 2

5 3 3 5 8 8 42
 )I  
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  مثلث: فصل ششم

  رابطه فیثاغورس: درس اول

�� 5]6 �
1 vCB( L{�E 7
!��:�ABC �� �� �=$ �
��^ . 7  PCG 5 �N( 7  7
!�1 74{�EA ��! ! 7  !� PCG �^
� c>G� �!�d( 

7
!�1 74{�E �( L�
��. X�4�( PCG 5 �N( 7  7
!�1 �� �  p�* ���� 3�$ /�4� 7
!�1 /�'$ �( ����.  

  

  

j��g�B�D 7n ��: L{�E vCB( �
 ��! �  7� �� �( "*�#(�( 72O�9 7
!��:� "9� �� �( !� "*�#( c�4d( �  � ��  ��6

7
!�1 c>G� �  7� �E74{ �( 72O�9�$�6   .  

7  ��Y�� �^
�: �� �� vCB( L{�E .7
!��:� �!fd( ��! � ��  "9� �  �!fd( !� PCG 7
!�1 74{�E. 7  �
� .7n �� 7n �� j��g�B�D 

�( L�
��.  

S S S= +1 2 3  

a b c= +2 2 2

    

 

  

�� �
 vCB( L{�E .7
!��:� ��! 7'�4� ���  �� 1� c>G� 7
!�1 74{�E "9�.  

b a , b c> >  
 

  

�
0 �   ����� 12  !6  !5 �( /��� �
 vCB( L{�E 7
!��:� M"O�9  

  

7n �� �� �
�  �� ����� �
� �( ����� �
� �  ��  ���E�  �!�#� ��� L��� ���E j��g�B�DL{�E vCB( �
 L�$���L
1�#  7
!��:�.  

  + = + =2 26 5 36 25 61  

=212 144  

  ��+ =2 26 5 212  &-��.��. ����� �
� � $�4���/ L{�E vCB( �
 7
!��:�"O�9.  
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��� �� vCB( L{�E .7
!��:� F1��$� ��!  ! �
 PCG 7
!�1 74{�E F��� F�6 ��6�  ! F1��$� PCG �^
� 7
!�1 74{�E 729��O .��6 

�( /��� 1� 7n �� �
1 F1��$� PCG �^
� �� 7�9�<( ��4$.  

2) PCG F��� F�6 ( – 
2
 ) ��!( = 2)PCG 729��O F�6(  

  

 

 ���N( �
1 5]6 ��x  �
�!0 "9� 7  ��.  

  

  

7  �4� 7n �� j��g�B�D L
���:  

 

 x x2 2 2 24 2 16 4 20= + ⇒ = + =  

 x 20⇒ =  

  

  

 PCG F1��$� 5 �N( 5�n2#( ��DC  �� ��  ��.  

  

  

  

7  �4� 7n �� j��g�B�D L
���:  

 DB BC CD2 2 2= +  
 CD CD2 289 25 89 25 64= + ⇒ = − =  

 CD 8⇒ =
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�� �
 vCB( L{�E .7
!��:� PCG 5 �N( 7  7
!�130
. � ��  �  Ry$ ��! "9�.  

AB BC=
1

2
  

  

�� �
 vCB( L{�E .7
!��:� PCG 5 �N( 7  7
!�145
 � ��  � 
2

2
 ��! "9�.  

a x x x= + =2 2 2 22  

a
a x x a= ⇒ = =

2
2

22
  

  

�� �
 vCB( L{�E .7
!��:� PCG 5 �N( 7  7
!�160
 � ��  � 
3

2
 ��! "9�.  

AB BC=
3

2
  

  

!� I�  �]
 7  c�,��� 30 �2( ! ��^
� 7  c�,��� 40 �2( �� 5 �N( L� 7  7C-�D 50 ��2( 1� L� ���E 72D�� �$� ! ��  /0 �� 

F���D �� ��8! ���� 7� ��� !� F�$�` �� �
 /�(1 �  �
 ."��9 �]
 1� �!� I�  a!� ! ��^
� 1� �!� I�  3!� 7  p�� /0 `1�!� 

.���� �� �
 /�(1 7  F���D �( ��9�. 7C-�D �ND� F���D 1� �� I�  ��N� M"9�  

  

7:�#( �  L9� 5]6 ! F��,29� 1� 7n �� j��g�B�D 7  �$�90 5 �E 5* "9�.  

�  78�� 7  �
�7� F���D I�  ����C  �
��$ �� "9�. BE �� �!�#( x! DE�� �!�#(x−50 �� �=$ �(L
���.  
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1� �D�� AE CE= . �� vCB(ABE   ! CDE 7  �4� 7n �� j��g�B�D L
���:  

AE AB BE AE x x= + ⇒ = + = +2 2 2 2 2 2 240 1600  

CE ( x) CE x x= + − ⇒ = + − +2 2 2 2 230 50 900 2500 100  

AE CE x x x⇒ = ⇒ + = + − +2 2 2 21600 900 2500 100  

  

x x x x+ − = + − ⇒ =2 2100 900 2500 1600 100 1800  

7C-�D F���D 1� I�  ����C  x m= =
1800

18
100

       

7C-�D F���D 1� I�  F���� ��       DE x m= − = − =50 50 18 32  

  

 �
 5 �N( 5]6 ��8 "9� F�6 i�<( P �( �
 5O�� �� L=2�( ��CG .a�� ���  PCG8  ��CG2 �2$�9  a�� .�6�  �2(

M"9� ��N� P �( PCG  

  

  
  

  

                                                                                                                                                                  

 

a

a a a

=

= ⇒ = ⇒ =

= + + = +

2 2

2 2

2 2

2 4 2 2

2 2 2 2 2 2

  

  

  

  

  نهشت های هم شکل: دوم درس

L� �� 5]6 !�/0 1� �]
 L�$��2  F���� .L�
�� "'k$  �9��� 5
��� ��� �  �� ��)a�N2$� ! /��!� ./��N� ( T�n�( ��^
� � 

L���.  

  
 5]6ABCD   5]6 � EFGH L� "9� "'k$) . /��!� � 180  7nN$ a�* 78��O(  

  

  

AB FE

BC EH

CD HG

AD FG

=

=

=

=  
  ˆ ˆ ˆˆ ˆ ˆ ˆ ˆA F , B E , C H , D G= = = =  

  

�( 5]6 !� �� ���  ��� ���` �,C2&( Y>
��� /���.  
  

P �( PCG a��  
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 ���( X�  a�B( 7nN$ a�* �� 5]6 ��2 � L�2#$���B . °180  7  a�N2$� �
 �  ! F��� /��!� EFGHL�9� .  

  

  

  

  

  

  
  

  نهشت های هم مثلث: درس سوم

L� ���  vCB( �2'k$ L
��� �� �
1 ":�* 79 ��:  

1 . PCG 79 �� �� )s s s(  

  )s s s(

AB DE

AC DF ABC DEF

BC EF

= = ⇒ ≅
= 

△ △

  

   �l��2( ���8�ˆ ˆˆ ˆ ˆ ˆA D , B E , C F= = =  

  

2.  ��  7
!�1 ! PCG !� �� �� )s 1 s(  

  ) s 1 s(

AB DE

ˆ ˆB E ABC DEF

BC EF

= = ⇒ ≅
= 

△ △

  

   �l��2( ���8�ˆ ˆˆ ˆAC DF , A D , C F= = =  

3.  ��  PCG ! 7
!�1 !� �� �� )1 s 1(  

  )1 s 1(

ˆ ˆA D

AB DE ABC DEF

ˆ ˆB E

= = ⇒ ≅
= 

△ △

  

   �l��2( ���8�ˆ ˆAC DF , BC EF , C F= = =  
  

  
5]6 1� �
 �� �� L� 5�:� �
1 ��� vCB( �2'k$ ��#
��  �� �� . %&'( �� �l��2( ���8� VW9����.  
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R:�(  

  )s s s(

AB AD

BC DC ABC ADC

AC AC

= = ⇒ ≅
= 

△ △

  

 �l��2( ���8�ˆ ˆ ˆ ˆˆ ˆBAC DAC , B D , BCA DCA= = =  

S(  

  ) s 1 s(

AO CO

ˆ ˆAOB COD AOB COD

BO DO

= = ⇒ ≅
= 

△ △


��������������������������ل ���������������������������� رأس)��
 )  

 �l��2( ���8�ˆ ˆ ˆ ˆA C , B D , AB CD= = =  

I(    

)1 s  1(

ˆ ˆA C

AO CO AOB COD

ˆ ˆAOB COD

= = °= ⇒ ≅
= 

90
△ △

(� �� ����� 	����
��
 )

  

 �l��2( ���8�ˆ ˆAB CD , BO DO , B D= = =.  

 

 

( �"3� �-% E  ��)AC  )BD ��� . ��!AB CD=  �  

  

  

  

  

�/0 �.��. �-!��:  

C D E A B E AB CD
∆ ∆

⇒ ≅   → =
(� � � )

 34! 5. �.�6�


CE AE

ˆ ˆE E

DE BE

 = =
 =

1 2   

  

 ���+++++8�
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  الزاویه ی قائمها نهشتی مثلث هم: درس چهارم

":�* �  F!>� L� ��� vCB( �2'k$ L� ���  .�6 72,� 5�E o&  �� 7� �� L{�E vCB( !� �2'k$  L� �� �
1 ":�* !� 7
!��:�

L
���:  

1.  PCG �
 ! ��! �� ��  )s !(  

2 . 7
!�1 �
 ! ��! �� ��  ��� )1 !(  

a!� ":�* ��. L{�E vCB( 1� PCG �
 ! ��! F1��$� ��� 7
!��:� �( j��g�B�D 7n �� 1� F��,29� �  L�6�  726�� �� $���L�  PCG

 L� �� 3�9 L
�!0 "9� 7  �
� �� !Y��-  vCB( !�7   ":�*)s s s( L� L� �  �( "'k$ �$�6.  

3!� ":�* ��. �
� 7  78�� �  .L�6�  726�� �� 74{�E 7
!�1 �8 7  7
!�1 �
 F1��$� �2E!7
!�1 7��4d( 7�  �� �CO�� ���

( vCB180 �( ."9� 78��  L� �� 3�9 7
!�1 F1��$� /���L
�!0 "9� 7   vCB( !� Y��- �
� �� !7   ":�*)1 s 1 (L�  "'k$

�( �$�6.  

  
 vCB(ABC  ! "9� ��E�#:� �!�#2(M  !N  m9! _���� 7 AB  !AC �$��� ���E . vCB( !� �!�#� 5�:�BHM 

!CH N′ ��#
��  ��. 

  

  

  

  

 
 

 vCB(ABC  c>G� V` ."9� ��E�#:� �!�#2(AB  !AC �$� ��  �^
�]
 �  .L
��� 7d�2$ ��:  

AB AC AB AC MB NC= ⇒ = ⇒ =
1 1

2 2
  

7
!�1��� B  !C �$� ��  �^
�]
 �  ��$ . ��!NC 7
!�1 !  C vCB( 1� L{�E7
!��:� CH N′  ��! � BM 7
!�1 !  B  vCB( 1�

L{�E7
!��:� BHM � �� �$7
!�1 �
 ! ��! ":�* 7  vCB( !� �
� 7d�2$ �� .  �$� ��  ���.  
  

  
F��` �
1 5]6 ��  ��� mOAD  !EC F��� Ry$ �� �^
�]
 �$�) .�$��^
�]
 Ry�( .(":�*  �� vCB( !� �2'k�4� ���

��#
�� .  
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":�*   a!�)s s s (  

)s s s (A BE BC D
∆ ∆

⇒ ≅


   
AB BD=   

BE BC=   

AE CD cm= = 2   

":�*   3!�)1 s s (  

)s 1 s (A BE BC D
∆ ∆

⇒ ≅


   
AB BD=   

BE BC=   

 ju� 7  5 �N2(ˆ ˆB B=1 2   

 3�9 ":�*)1 s 1 (  

) 1 s 1 (A BE BC D
∆ ∆

⇒ ≅


   

 ju� 7  5 �N2(ˆ ˆB B=1 2   

ˆ ˆC E= = °90   

BE BC=   
 3��k� ":�*)s ! (  

)s ! (A BE BC D
∆ ∆

⇒ ≅


   

ˆÊ C= = °90   
 )��!(AB BD=  

BE BC=   

  Ld�` ":�*)1 ! (  

)1 ! (A BE BC D
∆ ∆

⇒ ≅


   

ˆÊ C= = °90   

 ju� 7  5 �N2(ˆ ˆB B=1 2   

 )��!(  AB BD=   
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  توان و جذر: فصل هفتم

  مفهوم توان 

 �7� 8- ��	 ��' !�. !� 9��: ;�< =��0  ">
 *��>% *+ �!  5>.  ?!�>@  ��>	  *��>%!��  �>0�A � ��  !��>/%  ;�>< 

B��7�,C ���.  

 PE�! ��7->O ���  S�G �#
�$ �( F��,29� /��� 1� ����]� ��� L���.  

  

m

m

a a a ... a a (m )× × × × = ∈ℕ���������������       

!� &-� ��	 a5-�� � m *��% �(�.                                                                                        

  

  = × ×32 2 2 2  

× × × = 43 3 3 3 3  

  ( ) ( ) ( ) ( ) ( )− = − × − × − × −43 3 3 3 3  

  = × × ×45 5 5 5 5  

  ( ) ( ) ( )− = − × × −10

10

2 2 2

5 5 5
⋯

���������������
�
��� 

  

...×= = = × × × ×
25 5 5 2

5

5

2

3 3 3 3 3 3 3�������������
�
��� 

  

  
���7 (���� 8�6 �( �-�9 :�;�$ ���( ���7 ) ����� �$ %� 	3- ��.��� <)�=
� �$ �-�9 ���7 ��
��> �� �$    ?@$ �@� �� �$

	� A0B ?�.� .  

n m n ma a a +× =  

 )a (��2  ) :��DE(m   ) n  (�� )(	F�G�(  

  
+ +× × = =3 7 3 1 7 115 5 5 5 5  

( ) ( ) ( ) ( )/ / / /
+ × = = =  

1
3 3 1 42 2
2 2 2 2

1
0 2 0 2 0 2 0 2

5
  

+× = =5 8 5 8 134 4 4 4  
  ( ) ( ) ( ) ( )+− × − = − = −4 11 4 11 153 3 3 3  
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�( 8�6 (���� ���7 ���( ;�$:� ���7 �$ ����� ) �-�9 �$ <)�=
� ����� �-�9 �$ �� �( ?$ 8�6 	� ?�.� ) 	3- %� ���7 

�$ �� 	� ?��-�>.  

( )
nn na b a b× = ×  

)b a ,   )( ) :��DE( (��n  (��	F�G�(  

  

( )

( ) ( )/ /

× = × =

× = × =

66 6 6

14 1414 14

3 7 3 7 21

1 2 5 1 2 5 6
  

( )× = × =4 4 4 43 5 3 5 20  

  ( ) ( ) ( )− × = − × = −3 3 3 37 2 7 2 14  

  
�( 8�6 (���� ���7 ���( :�;�$ ?$ ���7 �$ ����� �.��� ) ?$ �-�9 ��$ �� 	3- %� )( <��I  J�� "# 	� ?�.�.  

  

( ) ( )

+

×

× = =

× = × = = =

5 5 5 5 10

555 5 2 5 2 10

7 7 7 7

7 7 7 7 7 7 7
  

  
:�;�$ K- (�� ���7 ��( �$��D� %�� ?$ �� ���7 	L������� ��� �� (�� �� �
��>  ) ���7 M-�$ �� �( ?$  8�@6 

?�.� ) �� ���.� ���7 "I�# -�.�?��.   

( )
m

n nma a=  

)a (��2  ) :��DE(m   ) n  (�� )(	F�G�(  

  
( ) + + + ×= × × × = = =2 4 2 2 2 2 2 2 2 2 2 4 83 3 3 3 3 3 3 3  

  (( ) ) ( ) ( ) ( ) ( ) ( ) ( )+ + ×− = − × − × − = − = − = −6 3 6 6 6 6 6 6 6 3 185 5 5 5 5 5 5  

( ) ×= =
54 4 5 203 3 3  

( ) ( )= =
32 2 2 8 163 3 3  

  

�B�7 ��.� �� )( (�� 
mn m n(a ) , a N��)OE ����� >��.
�.  
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( ) , ( )= = ⇒ ≠
2 23 2 6 3 9 3 2 32 2 2 2 2 2  

( )( ) , ( )×= = = ⇒= ≠
4 4 43 4 3 4 12 3 3 81 3 4 37 7 7 7 7 7 7 7  

  

�( <��I (�B) "���� ��B :�..� �( <��G�2�$ ���7���( 	�?�>��7 2�B ���7�$ �� ��� ?�.�.  

 �;�a  ) :��DE( (��l �m  )n �.��� 	F�G� (�� ��:  

  l m n l n m m n l m l n n m l n l m nlm((a ) ) ((a ) ) ((a ) ) ((a ) ) ((a ) ) ((a ) ) a= = = = = =  

  

���7 (���� Q-�=7 ) A0B �(  	@� ���@7 �� �� (���� ��
�� ���(       R�@1>� �� Q@-�=7 ) A@0B �@F� ) ?�>�@��

	� ?�$(.  

  

( ) ( ) ( ) ( )+ − = × × + − × × × = + − = − =3 6 45 1 3 5 5 5 1 3 3 3 3 125 1 81 126 81 45  

  

1 ( OB �� (�� �$�=I  	� K- "I�# ���� �=I ���7 �� (�� .	.F-: 

                                         
 
a , (a )= ≠0 1 0  

2 (00 ��� :�T> U-�F7.  

3 ((���$ �� ���7 �K- ����� �� ��(�V (�� ���.      

a a=1  

4 ( �$ �� K- (�� 	� K- "I�# ���� 	>��7 (��.  

                                       n =1 1                      

    

       [ ( )]°− − =
8

1
5

                                        

                                                     ( ) =
1

1024 1024  

(((( ) ) ) =2 5 3 03 1  

((( ) ) =
02 5 3 103 3   
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�;� n 2(�� X)% ) a ≠0����� �� :�; 
n na ( a)− ≠ −.  

( ) ( )( )( )( )
( )

( )( )( )( )

 − = − − − − = + ⇒ − ≠ −
− = − = −

4
4 4

4

2 2 2 2 2 16
2 2

2 2 2 2 2 16
  

  

  

�;� 2(�� 	=.� �� ���7 X)% ����� "I�# 2(�� �GY� ) �;� �� ���7 (�L ����� "I�# 2(�� 	=.� ���.  

k k k k( a) a ( a) a+ +− = − = −2 2 2 1 2 1  

  

                                 
( )

( )

− =

− = −

4

3

3 81

3 27
   

  

  ان دار با پایه های مساویجمع اعداد تو

!� &-� �D�� "
*��% �� B��	 5� *��% 8'��B�% �!�� !����� ���7.  

m m m n m na a ... a a ( a a ... a )+ ++ = + = + + + +1 1 21  

  

( ) ( ) ( )+ + + + + + + + +
= =

×
= = × =

25 26 27 28 25 1 2 3 2 25

48 48 48

50
2

48

4 4 4 4 4 1 4 4 4 2 1 4 16 64

2 2 2

2 85
2 85 340

2

 

  دارتقسیم اعداد توان

  
���7 (���� ?�� 7 �( �-�9 �;� ���( ���7 ) ����� �$ �-�9 %� 	3- ��.��� U

D� �$ �
��> �� �$ ���7 )  ?� ?$ %� �� �$

	� ?�.� .  

  n m n ma a a −÷ =  

)a ≠0  ) :��DE( 2(��n  )m  (����	F�G� (  
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( )

−

−

÷ = =

÷ = ÷ = ÷ = =

6 3 6 3 3

99 4 3 4 27 4 27 4 23

11 11 11 11

8 2 2 2 2 2 2 2
  

  −÷ = =12 3 12 3 95 5 5 5  

      ( ) ( ) ( ) ( )−− ÷ − = − = −6 6 1 54 4 4 4  

  = =
×

4 4

7 4 3 3

5 5 1

5 5 5 5
  

  
��� ?�� 7 �(���7 (� �-�9 �;� ���( ���7 ) <)�=
� �$ �-�9 ��.��� ����� �$ 	� ?�� 7 ?$ �� �� �$ %� 	3- ) ?�.� 

���7?��-�> 	� �� �$   .    

n
n n n

n

a a
a b ( )

b b
÷ = =  

 )b,a  ) :��DE( (�� )(b ≠0  )n  (��	F�G�         (  

  

                                                                                
 ÷ = =  

3
3 3 342

42 7 6
7

  

( ) ( )
/

/ /
/

 ÷ = =  

2
2 2 28 1

8 1 0 3 27
0 3

  

  
( )

( ) ( )

÷ = =

÷ − = −

7 7 7 7

9 9 9

12
12 6 2

6
4

4 3
3

  

  

n n n n

n n n n

a
a a ( )

a (n ,a )a

a a a a
−

 ÷ = = = ⇒ = ∈ ≠
 ÷ = =

0

0

1 1
1 0ℕ
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�( 8�6 ) ?�� 7 (���� ���7��( �;� �> �-�9 ) �> ���7 Z�$ R��� 2)��� �G> �.@�(a b,m n)≠ ≠�  :�@��[2� 

2��� 8�6 �- ?�� 7 (�B) (���> )  :(�� 	0>�>��  ) �;� b,a \9 %� �-O17� "���2�$  ]�
@T�  �
@��(  �.@���� 

QG� +�>��[ ���7 :(�� 	� �>��.  

  

<��G� �G���� 2��� ���7 (���� "��� 2�$ 	� "0� �-% ^�7�7 �� ��( �?�.:  

1 .	>)�( %� 	� /)�� O
>��9 +-�7 ?�.�.  

2 .���7 (���� ��� � 	� �G���� �� ��( ?�.�.  

3 .	� R�1>� ���� �� _! %� ^�7�7 �� �� (���� +�� ?�� 7 ) 8�6 ?�$(.  

4 .	� R�1>� ���� �� _! %� ^�7�7 �� �� Q-�=7 ) A0B ?�$(.  

  

  (( ) ) (( ) ) ( )+ ÷ − = + ÷ − = ÷ − = − =2 3 25 2 3 3 25 8 3 9 33 3 9 11 9 2  

  
× − × − −

= = = = −
− × − × − −

2

2 3

3 2 5 9 2 5 18 5 13 13

4 2 3 16 8 3 16 24 8 8
  

  

���7 ��-� � �$ : ?�.� ��La  ) �GY� 2(��m n>.  

 �;�a >1�� � :�;m na a>   

�;�a = 1 ��  :�;m na a=  

�;�a< <0 1�� �  :�;m na a<  

  

a = ⇒ >3 22 2 2  

a ( ) ( )= ⇒ = < =3 21 1 1 1 1

2 2 8 2 4
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  هاتساوی  توان

 !� B���% �� ��	 *��%=!�� "%!�@!� 5� 5-���� B���
 =��0�. *��%�� E�A B���
�A�.   

m na a m n= ⇒ =   

  معادله توانی 

5D��F
B� 5� !� *+ ��GH
 !� *��% !��# "
���7.    

B��. �� &��' 5D��F
B� !� ?!�@ *�/
� �� I�� 5D��F
 �! 5. �� ��	 *��%!�� �. 5-��B�� B���
 �-�J% K���= �L( *��%�� 

�! B���
 !��# K��� � 5D��F
 �! �� "
 ����.  

  
x x x= ⇒ = ⇒ =26 36 6 6 2   

          
x x x x+ += ⇒ = ⇒ + = ⇒ =1 1 52 32 2 2 1 5 4    

x x x x x x( )

x x x x x

+ − + − + −= ⇒ = ⇒ =

⇒ + = − ⇒ = − − ⇒ = − ⇒ = −

3 2 6 4 3 2 6 4 12 2 6625 5 5 5 5 5

4 12 2 6 2 6 12 2 18 9
  

  

  جذر تقریبی

 �7�a  �b (b )≥0  � ��0�. M��@ ��	 ��a b=2*+ =  K�7b  N�� *��% �- !�OH
 �!a  �a  N�� 5P-! �- !OC �!b "
    �>. � �>�-�7

b"
 *�PA ����.  

 ��Q
 *���	 5.=25 25 �� =25  !�OH
5  �5  5P-!25 �(� .  &�>�TU�( )− =25 25   �>�5 -    5>P-! �>�25  �>(� .  B��>.

5P-! W-�UA  B��25  ��UA �� ��25  �− 25 "
 K��$�(�  �X-� ?!�J	 5. ����=25 5  �− = −25 5.  

����� �
�� !�OH
 ���	� "YF.. ��A�
: 

  

  = = =625 25 121 11 36 6 
  

  / /= =64 8 12 25 3 5  

  

 !��6
 �-�. � �A!��A M��@ 5P-! ���	� "YF. "D�*+ !OC "J-�6% ���� 5J(��
 �! �� .��A�
: 

  

17 131 21 
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 	G-� 7 �`B40 ��.� �G���� ��. 

 

 

 
  

 *�'< <36 40 49 ��< <36 40 49  "�F- &-� �< <6 40 7 �(� . 5,@�� ���6   �>%7    \>]A �! !�>�
 B�!

 !�OH
 � K���5/6 "
 ;��� �!  =����( / ) /=26 5 42 25 .  

!OC _�U�� �� 40  &�.6  �%5/6  !�OH
 5. *�' � �!�� !��#5/6 8-�EA   &�. ��	 ��' �(� �%6  �%5/6  5. 5�5/6 8-�EA    ���>�� �>%

"
 "(!�. �! ����.  

  

  

 &-��.��./40 6 3≃ .  

3/6  "J-�6% !OC40 �(� !�P	� �#! 8- �% ."
 a�� � �����:     ;�>�� !�>P	� �>#! �� �>% �! "J-�6% !OC � �-�J. �%a�. �! 5J(��
 �#

���� . a�. ���C 5. 5C�% �./ /< <6 3 40 6 4  . &�. ���	� �-�. ��3/6  �%4/6 ���� "(!�. �! .35/6    !��># 5,>@�� &-� 
(� !�

 � �!��( / ) /=26 35 40 3225  .  

 &-��.��./ /< <6 3 40 6 35 "
 � ��0�. 5�0�� �! �-� ���C ��A��%:  

  

33/6  32/6  30/6  ���  

0689/40 9424/39 69/39  �!fd(  

  

 *�' �/ /− =40 39 9424 0 0576  �/ /− =40 0689 40 0 0689   ">J-�6% !OC ��40        �>. �>(� �>.��. !�>P	� �>#! �� �>%

/6 32 .  

"
 9�! &-� 5
��� �. A��%���� ;��� !�P	� �#! �� �% �! ���	� "J-�6% !OC ��. 

 

  

4/6  3/6  6  ���  

96/40 69/39 36  �!fd(  
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 	G-� 7 ��� �17 �-�)� ��( �� ��.  

  

  < < ⇒ < <16 17 25 4 17 5  

  ( / ) /=24 5 20 25  

  

  

  

  

  

  

 	G-� 7 �`B5 �� ��T�� ?[� )( �7 �� �-�)� ��(.  

  

< <4 5 9  &-��.��.< <2 5 3  �

( / ) /=22 5 6 25  

  

  

  

 

/ /⇒ < <2 2 5 2 3  

  �( / ) /=22 25 5 0625  

  

  

  

/⇒ 5 2 24≃ 

  

  

2/4  1/4  ��	  

64/17 81/16  !�OH
  

3/2  2/2  1/2  ���  

29/5  84/4 41/4  �!fd(  

24/2  23/2  22/2  21/2  ���  

0176/5  9729/4  9284/4 8841/4  
�!fd(  

/⇒ 17 4 1≃
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  نمایش اعداد رادیکالی روی محور اعداد

 ��
�N� ���N(2 �( ��  \!� �  L�$���F�6 72,� L��� 7�9�<( S�#* ��6�( �4� 7  �
 ! .  �+( a�+*   L����+O2   ��+<( �!� ��

L��� o
�4$ ����� .  

 ��� �
� ���  L{�E vCB( ��<( �!� �
1 5]6 7 �'( �!�#2( 7
!��:�  PCG a�� 7  ���E�#:�1  �+( L9�  L�+�� .    j��g�+B�D 7+n �� � �+�  

L
���:  

  OB OA AB= +2 2 2  

  OB = + =2 1 1 2  

  OB = 2  
 F1��$� 7  �� ����` 7$��� a�*OB �( �$�4� ! F��� 1�  � L�$1 7nN$ �� �� ��<( �C ��� PnE.  

  OC OB= = 2  
  

  

  

� �7� �. K��$�(� �� !�7�� 5. K���A� B ��� �%� OB �� �U( f' *�U� ��AE. "
 ��A��% 5�6A B − 2 �! B�!  !�>�
  *�>PA 

����.  

  
 (��3 ����$( M-�0> ���� 2)�.   

  
�-�. g,Q
 �h�# 5-��ED� B� �(! ���� 5� �%� *+ 3 �0�..  iJ� 5�.�! B 3!�j�Q�� �7� "/- �� kl<� 5Uh�# 2 � B�X-� 1  �>0�.=   �>%� 

g,Q
 3 (��.  

  

  OD OC= = 3  
  

 ���U4�3 �( �� L��� o
�4$ ��<( �!� L� �
1 \!� 7  L�$���:  

  OC = 2  

  CA′ =1  

  OC OA′ ′=  
�D�� 1� :  

  OA ' OC CA′= +2 2 2  

  OA ' ( ) OA ' OC'= + = + = ⇒ = ⇒ =2 2 22 1 2 1 3 3 3  
  

5. 9�! a�. ���	� B�X-� �Q
 5= 6= 7 � ... �! E�A "
 *��% �(! ��� 5� &-� 9�! 5. 9�! "A�E,� I��F
 �(�.  

  

  
  

 

  
  

D
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2��� 2(���� "Y� 5� 10� 17 ) ... ��! �$ K- %� +-� (���� /�01� )( �)`1� "��� �.
�$. 2%��> �� 

?�� (���� 	E�3-(�� K!�� �7 %� �� �$ 	0> ���� ) �$ K- %� +-� (���� �� 	� ���7 �a.7 �� ?�� K- b
Y� ?c�[ �-)�OE� 

�� �7) �� (�� (��� �d> �� ) /56� �0c�[ 2 �� ��0$ )( (�� �)`1� ��.��� ��T> (�(.  

  

  
(����  5 ) 17 �� 2)� ���� ��T> ��$(.  

  
= +5 4 1  

vCB( L{�E7
!��:� �� L9�  �(L��� 7� �
 PCG /0 2 �*�! ! PCG �^
� 1 �*�! �( �6� . ��! �
� vCB( � ��  5 "9�.  

             

  

  

  

  

�� ���( 17 ��$ /�� c�4d( !� �!fd( 5(�� "9� 1� \!� X�  �( L�$��� F��,29� L���.  

= +17 16 1  

  

V` �!� ��<( ����� �N�N* (vCB L{�E 7
!��:� �� L9� �( L��� 7� �
 PCG /0 4 �*�! ! PCG �^
� /0 1 �*�! �6� .  �+�! 

�
� vCB( � ��  17 "9�.  

          

  

  

  

 

  

����� +2 2 ! − +1 5 �� �!� ��<( /�'$ ����. 
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���  o
�4$ ��� +2 2 ���N( 2 ��  �� �=$ �( L
���.  1� 7nN$ � 2. vCB( L{�E 7
!��:� �� L9� �( L��� 7� ��! /0 2 

�6� .  

  

  

  

���  o
�4$ ��� − +1 5.  u��( �� −1 �� �=$ �( L
��� ! vCB( L{�E 7
!��:� �� L9� �( L��� 7� ��! /0 5 �6� .   

  

  

  

  

  

  هاخواص ضرب و تقسیم رادیکال

 ���b,a Y��- �
� �� .��6�  "�B( ����� L
���:  

  ab a. b=  

  
a a

b b
=  

  

                        

× =

= = =

2 3 6

32 32
16 4

22

  

= =
4 4 2

9 39
  

            

             

�;� A = 40 ) B /= 0 16 ���� "I�# A B× �� �G���� ��.�.  

  

 A B / /× = × = × = =40 0 16 40 0 4 16 4          
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  ها  جمع و تفریق رادیکال

!� mUC � i-�$% *��UA ��/-��! �� ���.� 5,UC B�� 
�5.�P �! !� !��� �X-�U� !��# "
 ���� � �L( n-��< *+ �� �!  �>.  �>� 

mUC "
 ����.   

�
0B���T
� 2�$ :5. 5,UC "-�� 5.�P�
 "
 ��-�7 ),UC5B�� "D�/-��!( 5� ���	� ��- �:��  ��>/-��!  �>�  B��>�
  ��>0�.. 

)�� �� 5-EH% � K��( *�0.(  

a�]
��� T
�,� ! P48 ���  7� ���� "E� /0 �  ���8 Y���� ��$�( ���( ��2D� �� L���.  
 

  

+ ≠ +2 3 2 3  

− ≠ −6 3 6 3  

                                                     
( )

( ) ( )

+ = + =

− = − = − = −

4 5 3 5 4 3 5 7 5

2 7 3 7 2 3 7 1 7 7  

  + + − = + + − = +2 2 3 3 2 3 2 3 2 2 3 3 4 2 3  

  

e�O� (�� (�V %� K- ) �=I +�� (���� �`B ��� �7.  

  

  / / / / /= × = × = × = × = × =
1 1

0 25 0 01 25 0 01 25 5 5 0 1 5 0 5
100 10

  

  

�f8 ����� �,�( 5 �E 7�9�<( "#�$ 7� �� �>n-� 7  /0 R
��� F�'$ �( ��
��.   

  

\-�F% K�PA   −2  

\-�F% K�PA   /−1 44  

  

(��F7 ?[� 2�$ 2��T�� �)`1� )( ����� (��F7 ?[� 2�$ 2��T�� �`B 	�����.  �� <��G� �,-( �;� %� K-  (�@� 

2��T�� �`B ?-��,�. (��F7 ?[� 2��T�� �`B Uf> (��F7 ?[� 2�$ 2��T�� (�� 	
I� �$��V (��.  
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  مندآموزان علاقهویژه دانش   

	=.� ���7 : �7�n  ��	 8- �JQ
 M��@ �a ≠ 0 *+ �-!�� K�7:  
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n
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5
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��`7: *��% ��	 �� �-�J% B��. 5-�� �. !��  �. �! 5-�� �-�. =�JQ
 *��% 5. �$@ ��j��� �/	 .  

  

( ) , ( ) ( )− −= = =5 5 4 4
5

1 1 2 9
5

5 5 9 2
   

  داررقم یکان اعداد توان

\D�( B���	� 5� �#! *�/- *+ �� "/- �� ���	� 6= 5 = 1� 0 �0�. 5. "A��%�� ��(�.. �#! *�/- *+�� B���o% "UA���.  

  

?[� ��3- 
75236 �.! ����  

  

*�/- ��	 6 �(�.  
  

;( B���	� 5� �#! *�/- *+ �� "/- �� ���	� 9 �- 4 ��0�. �7� 5. *��% ��� ��(�. *�U� �#! � �7� 5.  *��>% p��  ��>(�.  �>#! 

*�/- 5. n�%�% 1 � 6 ����: ��.  
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 �#!

*�/- 

 �#!

*�/- 

 �#!

*�/- 

 �#!

*�/- 

  *�>>/- �>>#!

��	 

  

?[� ��3- K-�$ %� (���� �-% �� �� ��( �-�)�.  

, , ,
75 48 12 29249 279 314 564  

  

→

→

→

→

75

48

12

29

249 9

279 1

314 6

564 4

  

  

p( !� "%!�@ 5� 5J%�
B *�/- 5-��B ���	� *��%!�� 5. "/- �� N�#!�  8 �7 �3 �2 ��:  ��>0=  WA��>% �!  �>. 4  ��>�6%  =K��>� 

K�A�U�#�. �! *��% �#! *�/- ��	 !��# K��� �#! *�/- �! qrP
 ����.  

   

?[� ��3- (�� 
46397 �� �� ��( �-�)�.  

  

−

− ⇒ = ⇒ =2

446

114

6

4 7 49 9

2

  

  ها با استفاده از تجزیه دیکالساده کردن را

�. 5-EH% ?!�J	B�� �-� =��/-��! "
*��% *+�� �! K��( ���.  

  

<��G�2�$ �-% �� �� :(��+-�7 <��I +30� ���-�.�.  

50  

−3 36  
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= × = × =250 2 25 2 5 5 2   

− = − × = − × × = −2 23 36 3 2 3 3 2 3 18   

  

 

1. *Y���� 5-��
�!0 "9� 7  �� �
1 ��� . 

( ) ( ) ( ) ... ( )1 2 3 1394
1 1 1 1− − − − − − − − = )R:�  

...1 2 25

25

+ + +
= )S  

2 5
1 3

5 8
( )− ×− )I  

( )
4 5

3 12
− − + )�  

2.  F��9 7  �� 5 �N( Y���� 5-�*��#
��  �]4( Y��- �
��. 

1
1

1
1

2
1

3
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−

   

3. �k6 ��(�A F1��$� 7   5 �k6 !� ��(� ��^$��( 1� 78��B, A "9� ����9 . �k6 ��(� ���A .( )8−    .�+6�  7+8��

 �k6 ��(�B  M"9� ��N�  

4. F�$��46 ��� �
1 ������ 1� �
 �� M�$���  

 301 , 72 , 307 ,192, 218    

5.  1� a!�  ������ ����� ���  �2#���� a� �g \!� 1�100  ��120   �+( m+O ���
� 7� ���� .L��� �( F��,29�   �� ���+O

�� �� .  

6.  M"9� "9���$ 3��� ! "9�� Y���� 3��� ���� �����  

R:� (5  !3 F�$��46 �k�� ��2#� ��� �
 a!� ��� . 5E��* ��� �
�4 ���� F�$��46.  
S (����  �  ��� �
��3 F�$��46   Y!�,2( a!�105 "9�.  
I (���� a!� ����� ����� 1� ��10 .5 "9��.  
� (F�$��46 ����� "9� ��D ���� F���4� ��� �
 ���.  

+� ( ���47 F�$��46 �
  ���� a!�. 
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7.  ��CG ��k� /0 �� 7� �
1 5]6 7  78�� � ABCD �1��2( N( ."9� c>GX����x�� ��  ��.  

  

8. M"9� "9���$ 3��� ! "9�� Y���� 3��� ���� �����  

R:� ("9� P �( q�42* 5]6 /0 .��6�  � ��  L� �  �1�: �
 ����nE ���.  
S (�1��2("9� P �( q�42* .�6�  726�� 74{�E 7
!�1 �
 5E��* 7� ��>GX�.  
I (��( L� �  7
!�1 !� c>G� ����!�#( 7
!�1 !� �
� .��6�  �1�$�.  
� (m9! �:��2( a�y�� 1��1��2( �
 c>G� ����1��2( .L� 7  c>GX��( ��d
� c>GX���6.  

+� (�1��2( ��7
!�1 ��=$ 1�#4�$ ���nE .c>GX���2#� ��.  
  

9.  �
1 5]6 ��d d1 2� ���N( .x  !y �� ��  �� .  
 

 

10.  L=2�( ��CG��� �
 �CO�� 7
!�1 F1��$�150
° "9� .7  �� ��CG��� �
� c>G� ����� �
�!0 "9� . 

 

11. ��#
��  ���8 Y���� !� S�G Y��- 7  �� Y���� ��.  

x y x y x y− + =2 4 3 3 2 38 12 4)\D�  

( a ) ( a )− − − =5 2 3 2 3);  

ax a x+ − − =6 3 4 2)p  
  

12. 7:���( 7  78�� �  7 !� ��#� � M"9� "9�� �!�#� 3��� .!�  

x x+ −
− =

3 2 6
1

2 5
  

\D� ((x ) ( x )+ = −5 3 2 2 6  

; ((x ) ( x )+ = −5 1 2 2 6  
  

13. ����  Y�y2&( .5 �N( 5]6 7  78�� � b
	

 �
�!0 "9� 7  ��.  
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14. ���N( �
1 �!�#� ��x �
�!0 "9� 7  ��.  

( )x
   
   − + − =
   − −   

6 43 1

9 62 2
  

15. ����  !� ���b,a
	 	

 ! ��6�  "k8 L� ! F1��$� L�
x x

b , a
x

   − +
   = =
   − +   

1 4 8

2 1

	 	
 �6� .   ����+  Y�+y2&(b

	
  7+  ��  "+9�

�
�!0.  

16. 7nN$ 
m

A
n

 −
 =
 − 

2 1

1 3
 a�� ��<( � 7nN$ ! �� 

m
B

n

 +
 =
 − 

3

3 2
 s�� ��<( � PE�! ��  ����+  Y�+y2&( .�$�AB

���	
   7+  ��

�
�!0 "9�.  

17. 7nN$�A
 −
 =
 − 

2

3
 ����  ���2 �AB

 
 =
 − 

5

4

���	
 "9� .����  ��k2$�AB

���	
 �
�!0 "9� 7  ��.  

18. vCB( 1� �
�� �� L{�E ���   �� F�6 729��O PCG .�
1 7
!��:� 7�
�!0 "9�.  

  
  

  

  

  

19. 7N$1!| ��  �
1 ���x   �� 7�
�!0 "9�.  

  

  

  

 
 

  

20. �!�#2( vCB( ��  c>GX�ABC  �  � ��  PCG �� a��a "9� .  

R:� ( _#* �  �� c�,���a   7�
�!0 "9�.  

S ( _#*�  �� "*�#(a   7�
�!0 "9�.  

I ( "4#E a�(�D �4� 7 )R:� ( !)S (�!�#2( vCB( "*�#( ! c�,��� .  PCG 7  ��>GX�8 �2$�9 ���� S�#* �� �2(.  

  

21.  ��� ���N = × × ×5 22 3 7   � 100 o&   F�^$0 .�6�  �
f` �  "9� � �� .... 

 

1 (5  2 (20  3 (75  4 (36   5 (18   
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22.  Y���� 5-�*+ + + + +6 6 6 6 6 66 6 6 6 6 6 /��� Y��- 7  M"9� ��� ���  

23.  5-�*( )( )+ + + + + + +7 7 7 7 7 7 7 7 74 4 4 4 5 5 5 5 5 /��� Y��- 7  ��� ���M"9�  

24.  ��
�N� ���N(11 ���� S�#* ��'�� LE� !� �� ��.  

25.  Y���� 5-�*( )− ÷23 4 8 2× M"9� ���  

26.  1� ����2  P �( � �� 4 .6 M"9� 3��� ��� �
� ."9� �24� �� 

27. 726�� ���   L�6� x − =10 10 9990/0 .  ���N( F��x M"9� ���   

28.   ���N(( )+ 49 1  M"9� ��� 

29. �!�#� 1� �
 �� �����N( �
1 ���x ���� ���` ��.  
x− =1 52 2)R:�  

x x x x+ + + =4 4 4 4 64)S  

x+ +
=

8 7 62 2 2
4

7
)I  

30.  �����625 !427  !264 ���� _��( ���  7  ���� 1� ��. 
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2.   

���L
:  

− =

+ = + =

+ =

2 1
1

3 3
1

1 1 3 4
1

3
1 5

1
4 4

  

3.   

L
���:  

A B
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+
− =5

2
   

B B
B B

− + − +
− = − ⇒ = − ⇒ − + = − ⇒ = − + =

8 8
5 8 3 8 6 6 8 2

2 2
            

4.   

( )( )= + + = × =1 1 1 1 2 2 4F�$��46 �������= × ⇒1 1218 2 109  

( )( )= + + = × =6 1 1 1 7 2 14F�$��46 ������� = × ⇒6 1192 2 3  

= 2F�$��46 ������� = × ⇒307 1 307  

( )( )= + + = × =3 1 2 1 4 3 12F�$��46 ������� = × ⇒3 272 2 3  

( )( )= + + = × =1 1 1 1 2 2 4F�$��46 ������� = × ⇒1 1301 7 43  

5.   

  1� ������ ��2 �100  ��120 S�r( .a� �g \!� �4� 7   VW9 ! 726�$ �� ��� ���2   .3  .5  !7  �( mO ��L�$1 .  
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�O0 ��� ���O119  S�r( /���� 7  7� "9�7 �( mO���O .F���&$ mO 7� �
����� .�$�

��:!�  ������   .  
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6.   

R:�) ("9��  (���� � ��  F�$��46 !� �
� �  ��� �
��= ×1 115 3 5   7� "9�( )( )+ + =1 1 1 1 4  ���� F�$��46.  

S) ("9���$  (����  �  ��� �
��3 F�$��46   �  "9� � ��  Y!�,2( a!�× × =2 3 5 30.  

I) ("9���$  (���� a!� ����� ����� 1� ��10 .4  1� "9� Y���� 7� "9��, , ,2 3 5 7 .  

�) ("9���$ ( F�$��46 ����� ��� q>B( ."#�$ ��D F���4� ��� �
 ���6  F�$��46 ��k� �����, , ,1 2 3 6 �(�6� .  

+�) ("9��  ( ���47 �( ��� ��O /0 a!�  F�$��46 �k�� V` ."9� a!� ��� �
�6�  . 

  

7.   

�1��2( ��CG��k�7
!�1 V` ."9� c>GX�54]( �!�d( ����$� .  
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8.   

R:�)("9��  ("9� P �( q�42* 5]6 /0 .��6�  � ��  L� �  �1�: �
 ����nE ���.  
S) ("9���$  (�1��2("9� 5�n2#( q�42* .�6�  726�� 74{�E 7
!�1 �
 5E��* 7� ��>GX� . L� �  c>G� �
�  /��  P �( ��� 

��6�  �!�#(.  
I) ("9���$  ( �  7
!�1 !� c>G� ����( L� 7
!�1 !� �
� .��6�  �1��( L�54]( L� ! ��6�  �!�#( ��$��� .  

  

  

  

�) ("9��  (m9! �:��2( a�y�� 1��1��2( �
 c>G� ����1��2( .L� 7  c>GX��( ��d
� c>GX���6.  
  

+�) ("9���$  (�1��2( ��7
!�1 ��=$ 1�#4�$ ���nE .c>GX���2( Y��- �
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11.   

x y x y x y x y ( y x )− + = − +2 4 3 3 2 3 2 38 12 4 4 2 3 1)\D�   

( a ) ( a ) ( a )( ) ( a )− − − = − − = −5 2 3 2 3 2 3 5 1 4 2 3);  

ax a x a( x ) ( x ) ( a )( x )+ − − = + − + = − +6 3 4 2 3 2 1 2 2 1 3 2 2 1)p 

 

  

12.   

��
1 ."9� "9�� S �!�#�:  

x x x x

x x
(x ) ( x )

+ − + − −
− = ⇒ =

+ −
⇒ = ⇒ + = −

3 1 2 6 3 2 2 6

2 1 5 2 5
1 2 6

5 1 2 2 6
2 5

  

13.   

  

b c d a
       −
       = + + = + + =
              

2 5 4 7

3 7 0 10

	 		 	
  

14.   

x ( ) x

 
       
       − = + ⇒ − = +
       − − − −        

9
4 6 41 3 1

27
6 9 62 2 2

2

  

( )

x x

( )

 
   ÷ −  −      ⇒ − = ⇒ = =     +−    − ÷ −       

1
13 13

261 2
39

39 1 392
2

2 2

  

15.  

"k8 L� ! F1��$� L� ����  !� �2E!a�� 7� �$�0 ���s�� ! L� �  //0 ����$� ��  L� �  ��$ ��.  

x x x x x x

x x x

   + − + = − ⇒ = − ⇒ = −
   = ⇒
   + − + = − ⇒ = −   

4 8 1 4 8 1 3 9 3

1 2 1 2 3
  

x x
b

=−      − − − −
     → = = =
     − − −     

3 1 3 1 4
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16.  

/��A a�� ��<( �!��( �,- /0 s�� �f: "9��7nN$ a�� _���� ��4� 7  ��6�B �( �,- ��$��6.  
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A n n

n
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B m m

n

 −
 = ⇒ − = ⇒ =
 − 

 +
 = ⇒ + = ⇒ = −
 − 

2 1 1
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1 3 3

3
3 0 3

3 2
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n ,m
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A
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B
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= =−

= =−

 − −
 − 
  → =
  −          −       ⇒ = − =

       − −− +        
  → =
   −−    

1
3

3

1
3

3

2 3 1
7

1
01 3
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0
1
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3
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17.   

                                                                     ����  Y�y2&(+ ��2 � Y�y2&(= ��k2$� Y�y2&( !���.  

B
     −
     = + =
     − − −     

2 5 3

3 4 7
  

n i j
         − −
         = − + = − + = + =
                  

1 0 3 0 3
3 4 3 4

0 1 0 4 4
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⇒ = ⇒ = =
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2
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=
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19.   

a y b

y

y

y

x

+ =

= −

= −

= =

− = →

2 2 2

2 2 2

2

13 12

169 144

25 5

20 5 15

  

y b a

y

y

x

= −

= − ⇒ − =

= =

= + =

2 2 2

2 2 225 24 625 576 49

49 7

7 8 15

  

  

20.   

L
��� j��g�B�D 7�rE �4� 7  ! 5]6 7  78�� � :  

a a a a
h a ( ) a h a h a

−
= − = − ⇒ = = ⇒ =

2 2 2
2 2 2 2 2 24 3 3

2 4 4 4 2                               

  

  

; (  

a a
h a

S S a

×
×

= ⇒ = = 2

3
32

2 2 4
  

p(   

h a
×

= =
3 3 8

2

4

2
cm S a

×
= → = =23 3 64

4 3
4

16

4
cm= 2

1

16 3  

21.   7�
��»3 «"9� ;�<-.  

 7� �d$0 1�= ×2 2100 2 5 7]�
� ���  .N  � 100 o&   5(�� !� 5E��* �
�  .�6�  �
f`2  5(�� !� 5E��* !5 �6�  726�� .  

 ���N( 7  78�� �  a�*N .  5(�� !� 5E��* �
� 5 7�
�� �k�� ! �6�  726��  5(�� !� 7� ��5  ����75 "9� .   ���+N( �
�� �+�  .75 

"9� .  

22.   

�("9� \��O �  ��� �
 ����]� P48 �#
�$ 7->O ���  S�G 54� L�$��.  V`L
���:  

  + + + + + = × =6 6 6 6 6 6 6 76 6 6 6 6 6 6 6 6 
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23.  

4� 7 L
��� /��� ��$��E �:  

  ( )( )+ + + + + + + = × × × = × =7 7 7 7 7 7 7 7 7 7 7 8 8 84 4 4 4 5 5 5 5 5 4 4 5 5 4 5 20 

24.   

16<11<9  V`< <3 11 4  !( / ) /=23 5 12 25 V`:  

  

  

  

/ /< <3 3 11 3 4  
35/3  7C-�D m9! ��3/3  !4/3  ! ���� ���E

( / ) /=23 35 11 2225V`:  
  

  

  

/11 3 32≃  

25.   

  ( )− ÷ = − = − =23 4 8 2 3 16 4 48 4 44× ×  

26.   

  ( )( )× − = × − =22 4 6 2 16 6 26  

 � ��  ��� �
� 7d�2$ ��26 "9� . 

27.   

L
���:  

  x x x x− = ⇒ = ⇒ = ⇒ =410 10 9990 10 10000 10 10 4  

28.   

  ( ) ( ) ( )+ = + = = =4 4 4 49 1 3 1 4 2 16   

29.  

R:� (/��� ��� !� ���7
�` �  ���   /��+� .��+6�  �+ ��  L� �  �!�#( ��� /0 ��+�      "+9� �!�+#( L+� �+  �+�$ �+� . �f+:x− =1 5 

V`x = 6.  

S (�("9� \��O �  ��� �
 ����]� P48 �#
�$ 7->O ���  S�G 54� L�$�� .�
�� �� :  
x x x x x x x x++ + + = ⇒ × = = ⇒ = ⇒ + = ⇒ =3 1 34 4 4 4 64 4 4 64 4 4 4 1 3 2  

I (�#� Y��- 1�.62 �( ��2��D ��L
��� .L
���:  

( )+ + + + ×
= = =

8 7 6 6 2 6
62 2 2 2 2 2 1 2 7

2
7 7 7

  

�( �D�� 1�L�#
��  L�$���x x x( )= =2 24 2 2 V`x=6 22 2 .7d�2$��x =2 6 F�OX�  !x = 3 �6 ����O. 

 

 

4/3  3/3  ���  

56/11 89/10  �!fd(  

33/3  32/3  31/3  ���  

088

9/11  
0224/11 9561/10  �!fd(  
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30.  

�� 79 ��L��� �( _��( �
1 Y��- 7  �� �.  

( )

( )

( )

= =

= =

= =

6 2 6 12

4 3 4 12

2 6 2 12

25 5 5

27 3 3

64 2 2

  

7� "9� ;G�!< <12 12 122 3 5.  

  

  


